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Question Number : 1 Question Id : 7532293037 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the combination of letters that, when sequentially places in the gaps of the given letter series will complete the series.

E I EL E I _ _EL_ T
Options :

1. = E,TLL.LETELLE

2. % LETLETLEL]ILL

3. % E,TLLETLETLE,L

4. ¢ L, TEILTEL,TE,LE

Question Number : 1 Question Id : 7532293037 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option



Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25

3{eRT & I Yo BT 99 BN, S8 Hid U I <1 T3 31&R Jad & RKad RHl # 19 ofH IR 41 I3 g1 Sieih |

E 1 EL E I EL T
Options :

1. % E,TLLLE,TEL,LE

2. % LETLE,TLELLL

3. % E,T.L.E,T,.L.E,T,L,E,L

4.+ L TE|ILTELCTE,LE

Question Number : 2 Question Id : 7532293038 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Arrange the following words according to English dictionary

1. Institution

2. Instruction

3. Insurrection
4. Insubordinate
5. Insufficient

Options :

1.%5,3,2,1,4
2.91,2,4,53
3.%2,3,1,4,5
4. % 4,2,5 3,1

Question Number : 2 Question Id : 7532293038 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
frafRed wea & 39 A T Hafyd & e SR d 3ol Tegd i J UeRid g 7

1. Institution
2. Instruction



3. Insurrection
4. Insubordinate
5. Insufficient

Options :

1. %53,2,1,4
2.91,2,4,53
3.%2,3,1,4,5
4. % 4,2,5 3,1

Question Number : 3 Question Id : 7532293039 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Choose the one which is different from the rest.
Options :

1. ¥ Word

2. # Excel

3. # OneNote

4. ¥ Chrome

Question Number : 3 Question Id : 7532293039 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
98 U .51 3 9 E B

Options :

1. % g8 (Word)

2. % TR (Excel)

3. % GIC (OneNote)

4. ¢ W(Chrome)

Question Number : 4 Question Id : 7532293040 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



Pick up the pair that best illustrates a similar relationship.

Weight : Kilogram
Options :

1. ¥ Energy : Joule
2. # Power : Ampere
3. % Gas: Liter

4. % Force : Kilometer

Question Number : 4 Question Id : 7532293040 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

3G T BT T I S (99 TH S JHM YaY B Jaiaq =0 I <=idr 8|
o : feam

Options :
1.«‘W:q?r
2.*%:@?
3. % 9 die?

4. % 99 : fhaHeR

Question Number : 5 Question Id : 7532293041 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the option that is related to the third term in the same way as the second term is related to the first term.

Electric Current : Electric Circuit :: Earth : ?
Options :

1. # Solar System

2. # Universe

3. % Orbit

4. #* Planet



Question Number : 5 Question Id : 7532293041 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

39 faded &1 999 B S R U § 31 I UHR Fafdd & oI gOR1 UG U8 Ue ¥ Haferd g

faqgd YRT : fdggdq uRuy . gad : 2
Options :

1. % gR-USH

2. % SRS

3.9 Dl

4. % Jg

Question Number : 6 Question Id : 7532293042 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the option that is related to the third term in the same way as the second term is related to the first term.

Typhoid : Bacteria :: Influenza : ?
Options :

1. ¥ Virus

2. % Germs

3. % Protozoa

4. % Bacteria

Question Number : 6 Question Id : 7532293042 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

39 e &1 787 ¥ Sl FWR 1 T i I TR Taifad & S g1 U Ugd U I e g
W:W::W:?

Options :
1. 9y



2. % Wy
3. % Ylcrenai
4. % g

Question Number : 7 Question Id : 7532293043 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

‘LIGHT” is related to ‘MKIJLY” in the same way as "SHOOT” is related to "
Options :

1. % DPKRU

2. ¥ TJRSY

3. ¥ DPKUP

4. % TLKTM

Question Number : 7 Question Id : 7532293043 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

ORI TR “LIGHT”, “MKJILY ** ¥ T&fId g, 31 3 YHR ’SHOOT”, ¢ WA gl
Options :

1. ¥ DPKRU

2. ¥ TJRSY

3. % DPKUP

4. % TLKTM

Question Number : 8 Question Id : 7532293044 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

‘CAUTION’ is related to “WBEUPPK” in the same way ‘FEDERAL’ is related to
Options :

1. ¥ FFHFNBT

2. % MCPECBR

3. ¥ CEORFER



4. % DEGFOBQ

Question Number : 8 Question Id : 7532293044 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

S99 YR ‘CAUTION’, ‘WBEUPPK’ ¥ Tsfdd 8, 31 I UBHR ‘FEDERAL, J YT g
Options :

1. ¥ FFHFNBT

2. % MCPECBR

3. # CEORFER

4. % DEGFOBQ

Question Number : 9 Question Id : 7532293045 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In a certain language code AMOUNG is written as DMLUQG. How will SETTLE be written in that language?
Options :

1. ¥ EPTOVE

2. % EQVTOE

3. ¥ VQETDE

4. ¥ VEQTOE

Question Number : 9 Question Id : 7532293045 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

T A=Y e U H, AMOUNG &1 DMLUQG foral SITa g | St HIST H SETTLE 1 & feral SR
Options :

1. ¥ EPTOVE

2. % EQVTOE

3. ¥ VQETDE

4. ¥ VEQTOE



Question Number : 10 Question Id : 7532293046 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Two statements are given, followed by two conclusions numbered (I) and (II). You have to take the given two statements to be true even if they

seem to be at variance from commonly known facts. Read the conclusions and then decide which of the given conclusions logically follow(s)
from the two given statements, disregarding commonly known facts. Select the answer:

(1) if only conclusion (I) follows

(2) if only conclusion (II) follows

(3) if either conclusion (I) or (II) follows

(4) if neither conclusion (I) nor (II) follows and
(5) if both conclusions (I) and (II) follow

Statement A: All boys are men.
Statement B: All men are fathers.

Conclusions:
I. Some men are boys.
II. All boys are fathers.

Options :
1. %1
2. %2
3.% 4
4. 95

Question Number : 10 Question Id : 7532293046 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafaRad vy §, 3 Hua AT MU § 3R 39 U= & a1g &) ey (1) 3R (11) fou U &1 3muep! fau 71U &) Sy Bl qI AR 8, Ha &1 3
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3T U GH HUl o1 difch® U I 3IER0 BT ¢ | IR o

(1) 3R Fad FpT (1) STERI BT 2|
(2) 3R Had FT5HY (I1) IR0 FRal 5|
(3) 3R BT (1) T (11) TR HRAT B |



(4) SRR A a1 s (1) T 8 (1) SFAWRU BT 5 | 3R
(5) 3R F5BY (1) 3R (11) T TR0 R & |

HYT A: I TSF Y B |
Y B: Ot g8 U 5|

Ty

L 56 Y TASH ¢
1. gt s fuar g1
Options :

%1

2. %2

3. % 4

4. 95

Question Number : 11 Question Id : 7532293047 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In the following question, two statements are given and these statements are followed by four conclusions. You have to take the given two
statements to be true even if they seem to be at variance from commonly known facts. Read the conclusions and then decide which of the given
conclusions logically follows from the two given statements, disregarding commonly known facts.

Statement A: All green are blue.
Statement B: All blue are white.

Conclusion:

I. Some blue are green.

II. Some white are green.

III. Some green are not white.
I'V. All white are blue.

Options :

1. ¥ Only Conclusion (I) & (II) follow.
2. % Only Conclusion (I) & (III) follow.
3. % Only Conclusion (I) & (IV) follow.
4. % Only Conclusion (II) & (IV) follow.



Question Number : 11 Question Id : 7532293047 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafoiad uy & € HuF 3T U § 3R 39 5y & a1 IR e fAu U g1 3iues! 3T U &Y o &) I A1 8, Hel €1 d THIe:
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.$S g The el g |
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Options :

1. ¥ &Had BN (1) 3R (1) IR B g

2. % Had sy (1) 3R (111) SR R & |
3. % Had sy (1) 3R (1v) SRV I & |
4. % Had Y (11) 3R (IV) SRV HA 5 |

Question Number : 12 Question Id : 7532293048 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In the question, three statements are given, followed by three conclusions, I ,II & III You have to consider the statements to be true even if it
seems to be at variance from commonly known facts. You have to decide which of the given conclusions, if any, follows from the given
statements.

Statements:

(I) Some Chips are biscuits
(IT) All biscuits are Chocolates
(IIT) All Chocolates are sweets

Conclusions:



(I) Some Chips are Chocolates
(IT) Some Chocolates are Chips
(IIT) All biscuits are sweets

Options :

1. # Only I, III follows
2. % Only I, II follows
3. % Only II, III, follows
4. ¥ All follows

Question Number : 12 Question Id : 7532293048 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

T gy & I Hy feu U § 3R 39 a1 <fiF Fsh 1, 11, 3R 111 fRT T €1 MUY Syt &) T AT 8, Hdl &1 J 3THAR W I1d
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HY:
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fm:

() TS o deac § |

(1) T didhac R gl

(i) T+ fope fireTs B
Options :

1. % &Had I, 111 SR HA 5 |
2. % Had I, 11 IR0 AR g |
3. % Had I1, 111 SIERU HA & |
4. ¢ Gl SRV A |

Question Number : 13 Question Id : 7532293049 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



There is a group of donkeys & ostriches, where the number of legs are 8 more than twice the number of tails. Find the number of donkeys in the
group.
Options :

l.*5
2.9 4
3.% 7
4. % 12

Question Number : 13 Question Id : 7532293049 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

e} SR YR BT U THE &, ForH ORI Bt AT U 1 WA o QA 3 8 311 § | THg H el B IeAT 1 i |
Options :

1. %5

2.¥4

3.% 7

4. % 12

Question Number : 14 Question Id : 7532293050 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

If = implies =, X implies <, + implies >, — implies %, > implies +, < implies +, = implies -, identify the correct expression.
Options :

.%*1-3>2+1-5=3-1<2

2.% 1-3>2+1x5=3x%x1>2

3.% I x3>2+1x5x3-1>2

4.9 1-3>2+1x5+3-1>2

Question Number : 14 Question Id : 7532293050 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
RPN g= x BTG <, + PIHT G >, - FINT G x, > BT g+, <BI A § +, = BT A § -, A TG ToIh B1 UgaH Be |




Options :

[.#%1-3>24+1-5=3-1<2
2.% 1 -3>2+1x5=3%x1>2
3.% 1 x3>2+1x5x3-1>2
4.1 -3>2+1x5+3-1>2

Question Number : 15 Question Id : 7532293051 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the correct sequence of mathematical signs to replace & signs such that the given equation is balanced.

9&105&21 &7&40&2
Options :

1. ¥ =x+~+-

2.% x=+-+-

3% x+-=+

4. ¥ x +=+-

Question Number : 15 Question Id : 7532293051 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

& B UIARTTUT FH= & fore TIiritg forgl & Tal o &1 9g+ 3, difds faan am wHidRor gferd g S|

9&105&21 &7 &40 &2
Options :

l. % =x++-

2.% x=+-+-

3.% x+-=+

4‘\'./)(+:+_

Question Number : 16 Question Id : 7532293052 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



Which of the following diagrams exhibits the most appropriate relation between Emplovee, Managers and Engineers?
Options :

00

Question Number : 16 Question Id : 7532293052 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

9 T O DF-91 3R, HHAIRAT, Faud! AR AfEarsi & 919 a4 39 Yy UaRid Fear g

Options :



<

O
©g*x©

Question Number : 17 Question Id : 7532293053 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Which of the following diagrams exhibits the most appropriate relationship between Cricket, Bat and Ball?

Options :

<



Question Number : 17 Question Id : 7532293053 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

75 & 9 BIF-91 3R, fbobe, Teat 3R 71g & dig Gad Iugad Yay Ugiid dHdl g2

Options :

.
% (&



Question Number : 18 Question Id : 7532293054 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Which of the answer figures is the exact rotation of question figure X?

O |«
C

C
$ N

X

Options :



Vvv

»




Question Number : 18 Question Id : 7532293054 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

34 fasheq 1 9 &Y, Ol &1 715 A1 {d X &1 W81 gftfd Fu g
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N
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ju

\ [

2. ¥




\ | >>>uD
Ha Y RN

4. %

Question Number : 19 Question Id : 7532293055 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the option that can replace the question mark (?) in the following figure series.

Nz
&/ 2 J

Options :

1.



4. %

Question Number : 19 Question Id : 7532293055 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

39 [deeq o1 99 &3, ol FufaRaa smefd gaar o vy &8 (2) &1 wioitd &3

O -

Options :

® )




=

2. 8

2

N\

Question Number : 20 Question Id : 7532293056 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
A dice with six faces is marked with six numbers 1, 2, 3, 4, 5, 6. This dice is rolled two times and two positions are
shown as:

n

I

Which number will be opposite to 27
Options :
. 1

2'$5



Question Number : 20 Question Id : 7532293056 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25

&8 Taidh| a] Udh U TR hARE: B8 YA 1, 2, 3, 4, 5 3R 6 3ifded &1 39 U &I &1 IR AgH1a1 Sl § AR id
e # feae oaR fufaar ura eI &

> & fARId Hed TR HISE &A1 31d 2
Options :
1.¢ 1

» ® O

I

General Awareness

Group Number : 2
Group Id : 753229166

Group Maximum Duration : 0



Group Minimum Duration : 0

Show Attended Group? : No
Edit Attended Group? : No
Break time : 0

Group Marks : 20
Is this Group for Examiner? : No

General Awareness

Section Id : 753229166
Section Number : 1

Section type : Online
Mandatory or Optional : Mandatory
Number of Questions : 20
Number of Questions to be attempted : 20

Section Marks : 20

Enable Mark as Answered Mark for Review and Clear Response : Yes
Sub-Section Number : 1
Sub-Section Id : 753229199
Question Shuffling Allowed : Yes

Question Number : 21 Question Id : 7532293057 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following dances comes from southwestern India, around the state of Kerala?
Options :

1. ¥ Kathakali

2. # Sattriya

3. % Kathak

4. % Kuchipudi

Question Number : 21 Question Id : 7532293057 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25

Foffed & @ $H-3 70 1 3%H, SR0r-ufdnft YRd & 5Rd I59 & SN J gofT 87
Options :

1. ¥ BYBl

2. % JT

3. % hydh

4. % g

Question Number : 22 Question Id : 7532293058 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In which century, did the royal legacy of Tripura kingdom, Birchandra and his son Radhakishore Manikya patronise Hindustani vocal and
instrumental music?

Options :
1. # 16th
2. % 17th
3. # 18th
4. ¥ 19th

Question Number : 22 Question Id : 7532293058 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

FIYRT 15T & e, ARG 3R b 9 JUTHRIR IO = o it H fgearil o 3R are il 1 IR&vl foba
Options :

1. % 169

2. % 179

3. % 1gdl

4. 1981

Question Number : 23 Question Id : 7532293059 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25

Which of the following festivals in Arunachal Pradesh is associated with Agriculture?
Options :

1. # Reh

2. % Sarok

3. # Tamladu

4. ¥ Mopin

Question Number : 23 Question Id : 7532293059 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

3FPUIEE USRI &1 FUfafad 3§ § &1H-91 iR Sy I Jaferd g2
Options :

1. % 3G

2. % WD

3. ® qHdIg

4. HIfUA

Question Number : 24 Question Id : 7532293060 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which one of the following is called the "Arc De Triomphe of the East"?
Options :

1. ¥ Charminar

2. % Golconda Fort

3. ¥ Sun Temple, Konark

4. ¥ Gingee Fort

Question Number : 24 Question Id : 7532293060 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fofefaa & 3 foa s St [Sp2pees) 3T T 3 (Arc De Triomphe of the East)" gl SITdl 87



Options :

1. ¢ IREMR

2. % Ticig ST T fobetm
3. % gd HfeR, B
4. % f3iSh 7 fooet

Question Number : 25 Question Id : 7532293061 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following years the National Highways Authority of India (NHAI) was operationalised in India
Options :

1. % 1985

2. % 1960

3.9 1995

4. % 1975

Question Number : 25 Question Id : 7532293061 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fFofefad 7 @ fooa g & HRd It ISRt UTfRiBRuT (TH.09.T. 318/NHAT) A HRd H (01 1 URY fbar
Options :

1. % 1985

2. % 1960

3.9 1995

4. % 1975

Question Number : 26 Question Id : 7532293062 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
"Chinatown", India’s only Chinese settlement is located in which of the following cities?
Options :



1. ¥ Kolkata

2. # Jaipur

3. % Agra

4. ¥ Bhubaneshwar

Question Number : 26 Question Id : 7532293062 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

TGS, YRd B UHHE A=t aelt, Fafofed & @ frg v & fRua 82
Options :

1. ¥ Bl

2. % SOUR

3. % 3R

4. % YaR

Question Number : 27 Question Id : 7532293063 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In which year was the Bombay Stock Exchange established?
Options :

1. % 1875

2. % 1877

3. % 1956

4. % 1992

Question Number : 27 Question Id : 7532293063 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
SIS Widh TaTTol B RITTAT 4 g8 U2
Options :

1.v 1875




2. % 18770
3. % 19560
4. % 1992H

Question Number : 28 Question Id : 7532293064 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following act defines business functioning of a bank in India?
Options :

1. ¥ Reserve Bank of India Act, 1934

2. # Banking Regulation Act, 1948

3. ¥ Banking Regulation Act, 1949

4. # The Company Act, 1956

Question Number : 28 Question Id : 7532293064 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fafeiad 7 9 oH-ar g YRd A T d% & GRS BTHDTS B URHINT HRdl 82
Options :

1. % YRdg Rord o iffam, 1934

2. % dfb fafme Sifdf=am, 1948

3. « Sifdsr fafame sifdfam, 1949

4. % U YT, 1956

Question Number : 29 Question Id : 7532293065 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which town was a collection centre for cotton from Deccan to be exported in 18627
Options :

1. ¥ Mirzapur

2. % Benaras



3. % Gorakhpur
4. # Ghazipur

Question Number : 29 Question Id : 7532293065 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

1862 ¥, Foffed & 9 1F-91 TR, g% 4 Fafd iy 9 ard $U &1 U T8 g o 71 412
Options :

1. ¢ QR

2. % dRY

3. % TIREQR

4. % THIQR

Question Number : 30 Question Id : 7532293066 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The ‘two bullocks with plough’ was the original symbol of which of the following political parties of India?
Options :

1. % Janata Party

2. ¥ Congress Party

3. % Communist Party of India

4. % Revolutionary Socialist Party

Question Number : 30 Question Id : 7532293066 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

TA P YIY 3 I, HRA & {5 IoHIfdw o BT Hd Ui U1
Options :

1. % S aréf

2. ¢ B UIet

3. % YR HRFRe aref



4, * HifqeRI UG Uref

Question Number : 31 Question Id : 7532293067 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Who was the founder of Independent Labour Party?
Options :

1. # Acharya Narendra Dev

2. # Rafi Ahmed Kidwai

3. % Bhimrao Ramji Ambedkar

4. # Ajay Ghosh

Question Number : 31 Question Id : 7532293067 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Wi AeR UTeT & SRS DI A2
Options :

1. % 3 R ¢d

2. % B! 3fgHg fhaas

3. ¢ HITRTa ISl Sidgar

4, % ST AY

Question Number : 32 Question Id : 7532293068 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

29 August is celebrated as the National Sports Day in India in memory of
Options :

1. # PT Usha

2. % Anand Amritraj

3. # Milkha Singh

4. % Dhyan Chand



Question Number : 32 Question Id : 7532293068 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

_ PIUIGH, 29 3R Bl HRA H AP W Gad & =Y H AR A1l B
Options :

1. % G 3

2. % 3fHq RIS

3. % foyemn Rig

4.¥ A HG

Question Number : 33 Question Id : 7532293069 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The Amendment Act provides for a term of 5 years to the Panchayat at every level.
Options :

1. % 42nd

2. % 6lst

3.9 73rd

4. % 83rd

Question Number : 33 Question Id : 7532293069 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

YA SR Ude TR R UDTad B 5 a8 & 3rafd UeH HRar gl
Options :

1. % 424

2. % 61l

3.¢ 7341

4. % 834l



Question Number : 34 Question Id : 7532293070 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

On the Earth’s surface, the acceleration of gravity is about
Options :

1. # 10.2 m/s?

2. % 9.8 m/s?

3. % 7.6 m/s?

4, % 58 m/s?

Question Number : 34 Question Id : 7532293070 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

qzaﬁ CHRIRE W, {N(dnlq odRUT (acceleration of gravity) CI{THIT g %I
Options :

1. # 10.2 m/s?

2. % 9.8 m/s?

3. % 7.6 m/s?

4. % 58 m/s?

Question Number : 35 Question Id : 7532293071 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Heat treatment process that destroys pathogenic microorganisms in certain foods and beverages is called
Options :

1. % Hydrolysis

2. ¥ Pasteurization

3. ¥ Solvay Process

4. # Dehydrogenation

Question Number : 35 Question Id : 7532293071 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25

TR UfehdT S & W1 Uardf 3R U YTl & IAvToier Yedoidl &l 78 dal ¢, 39 HEI ST g |
Options :

1. % ISR

2. ¢ URGIHRI

3. % Hied Ufshar

4. % fagrggIoHidRU

Question Number : 36 Question Id : 7532293072 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following options is a model that describes the formation, breakdown and reformation of a rock as a result of sedimentary, igneous
and metamorphic processes?

Options :

1. % Rock yard

2. % Rock leveling
3. ¥ Rock cycle

4. % Rock genesis

Question Number : 36 Question Id : 7532293072 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafafad & @ ®F-91 fawey 98 disd § S SaTd], 3 3R Srardid ufearsii & uRumeRey Tg™ & i, Hifte o sik
g fmfor &1 quie e g2

Options :

1. % AP TTS (Rock yard)

2. % I AgfeT (Rock leveling)
3. ¢ b ?ﬂgﬁ?_d (Rock cycle)
4. % Jp SR (Rock genesis)

Question Number : 37 Question Id : 7532293073 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25
Which of the following is a water-borne disease?
Options :

1. ¥ Hepatitis A

2. % Malaria

3. % AIDS

4. ¥ Dengue

Question Number : 37 Question Id : 7532293073 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
e # A - T STol-Siid SR 82
Options :

1. ¢ gucrefeu ¢ (Hepatitis A)

2. % TR

3. ¥ TgY (AIDS)

4. % 37

Question Number : 38 Question Id : 7532293074 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In which year did India win the international men's Hockey World Cup?
Options :

1. % 1971

2. % 1973

3.4 1975

4. % 1980

Question Number : 38 Question Id : 7532293074 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



YRA A ford 9y # ARSI Go N glap! fay HU e U1
Options :
1. % 1971
2. % 1973
3.4 1975
4. % 1980

Question Number : 39 Question Id : 7532293075 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which para-athlete (shot put) was awarded the Rajiv Gandhi Khel Ratna Award in 2019?
Options :

1. ¥ Deepa Malik

2. % Karamjyoti Dalal

3. ¥ Ekta Bhyan

4. ¥ Manasi Girishchandra

Question Number : 39 Question Id : 7532293075 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

ford TRT-TYdie (e ge) HI Ioitg et W Xd REBR 2019 F THATH b T g2
Options :

1. ¢ it Afdie

2. % AN Garel

3. % Uchdl W

4. % AR R

Question Number : 40 Question Id : 7532293076 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
is the oldest golf club in India after the first one outside the UK in the world.
Options :



1. # Gulmarg golf course

2. % Oxford golf & country club
3. # Delhi Golf Club

4. ¥ Royal Calcutta Golf Club

Question Number : 40 Question Id : 7532293076 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

_ faydgd (UK) & 9TeR U8AT 3R HRA BT I TR Meth 34 g |
Options :

1. % TCTH Meth B

2. % RIDIS TMeh TS dHel wd

3. % faedd! et Feid

4. ¥ T HABT Meh aald
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Question Number : 41 Question Id : 7532293077 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

What is square root of the least perfect square number, which is divisible by 2, 3, 4, 5, 6, and 87
Options :

1.« 60

5 % 120
3 % 3600

4 % 1600

Question Number : 41 Question Id : 7532293077 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

2,3.4, 5.6 3R 8 Y GG BICT ¥ BIC YUl 1 ST &1 a¥HT 1 82

Options :
1.« 60




5 % 120
3 % 3600

4 % 1600

Question Number : 42 Question Id : 7532293078 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

What least number be subtracted from 13983 to make it a perfect square.
Options :

1 ® 69

7 # 60
3. & 39

4 % 70

Question Number : 42 Question Id : 7532293078 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

13983 H ¥ fh ¥ AqH AT &1 9eTg1 ST 918U, oy g8 Udh YUl &l s §Te?

Options :
1. % 69

> # 60

3. & 39



Question Number : 43 Question Id : 7532293079 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Number 6819 is divisible by which of the following numbers?
Options :

4

1. ¥ <

2.4 3

Question Number : 43 Question Id : 7532293079 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

B 6319 FFHfIRGd 7 9 fog T ¥ faursa g2

Options :

|

1. ¥ <

2. 3



Question Number : 44 Question Id : 7532293080 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

A merchant increases his marked price by increasing its cost price by 10%. Then gives a cash discount of 10%.
Presuming that his article is fully sold through cash price, find his gain or loss percent.

Options :

1. % Gain 2%

7 o Loss 1%
3 % Gain 1%
4 % No gain—no loss

Question Number : 44 Question Id : 7532293080 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Ueh TR 301 AT ed H 10% Bi gl B AU 3ifchd Jod &l derdl ¢ | T 10% BT &Rl [SEhR3e Sarg |
I8 AF ¢ % 3% 9 I8 TR ¥ e g & A1 I o1 oIl €, T SHP @1 A1 g1 o1 Ufa=id I1d S|

Options :
1 % 2% ¢4

3 % 1% [GIk]




Question Number : 45 Question Id : 7532293081 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
What percent above the cost price should a real estate firm in a metro city has to mark on its villas so that after allowing
a discount of 20% on the Listed price, it gains 12%?
Options :
1. % 50%

5 % 60%

Question Number : 45 Question Id : 7532293081 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Tl JeR # U Rae Tee B &I arTd Jed 9 favd Uia=id SR U faei &1 geg Sifdsd S afet fored
Telag e TR 20% Bi FC & o 816 HI, d 129 BT TTH HIKT IR Gob?
Options :

1. ® 50%



Question Number : 46 Question Id : 7532293082 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

By selling salt at ¥ 558 per quintal, a trader lost 7%. At what price per quintal should he have to sold it to gain 7%?
Options :

| % 620

7 o 2642
3 # 742

4 % %600

Question Number : 46 Question Id : 7532293082 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Uch AMURI B 7 558 Ui fdhce THE dadHR 7% Bl B3 | 7% T U B & fag 3 18 Uid fdhed [ S
R 991 911U U1

Options :
1 ®% 2620

7 o 2642
3 % 3742

4 % %600



Question Number : 47 Question Id : 7532293083 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
A sum of money is to be distributed among A, B, C & D in the perportion 5: 2 : 4 : 3. If C gets T 1000 more than D,

what is B’s share?
Options :

1 % %1000

o % T 1200

3 % %1800

4« %2000

Question Number : 47 Question Id : 7532293083 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

A, B, C AR D& §ig [BH 4RI B 5:2: 43 Ud o f[dalkd s g1 e ¢ B D ¥ 2 1000 HYH A e,
dl B &1 fgwl I &1

Options :
1. ® 1000

5 % T 1200
3 % T 1800

4.« T 2000

Question Number : 48 Question Id : 7532293084 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option



Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25

A fort has a provision of 45 decagram per day per person for 2200 people for 16 weeks. Find the number of who should
leave the fort so that the same provision may be sufficient for 24 weeks when each person be served with 33 decagram
per day.
Options :

1.« 200

5 % 2000

Question Number : 48 Question Id : 7532293084 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

T fopel ® 2200 TR & 1T 16 TTE & 1T wifd &1 Wi ik 45 SHRAH 1Yfd &1 a1 $1 15 g | T arm
D! [ BredH o Tifet o o a8] TR 24 I8 & [oTd Tdit gl oid Udd Afdd &l Ufd fad 33
SHIAH ATYfd &l Set |

Options :
1.« 200

5 % 2000



Question Number : 49 Question Id : 7532293085 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
The ratio of Divya’s salary to Monika’s salary was 2 : 5. Divva’s salary is increased by 50% and Monika’s by 20%.

What is the ratio of their salaries now?
Options :

1.9 1:

-2

Question Number : 49 Question Id : 7532293085 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
f&oHT o I BT HITHT &b 9 I HJUTd 2 : 5 4TI TG & 9 H 500 AR HIfFDT & da H 200 & 9 §3 1 36
I I BT U T 82

Options :

1 ¢ 1:2
o ® 2:1
3% 1:3



Question Number : 50 Question Id : 7532293086 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The difference between SI and CI on a certain sum of money in 2 years at 25% is T 250. The sum is:
Options :

| % ¥3,200

5 % Z3.600
3 % 25,200

4 v T4.000

Question Number : 50 Question Id : 7532293086 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Uh (S SRR UR TS B 250% &R 2 T4 H YTk HIHRUT o701 2R Gehgfeg 1ol o d1d Bl 3fcR 2 250 B
SENIRRIRECY

Options :

| % ¥3.200

5 % T3.600
3 % T5.200

4 4,000

Question Number : 51 Question Id : 7532293087 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option



Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25

Shivi invested of T 16,000 in a scheme for 4 yvears at a compound rate 10% p.a. How much will Shivi get at the end of 4
years? Nearestto 2 17
Options :

| % 23,000

4 ®» 20,025

Question Number : 51 Question Id : 7532293087 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

T, 7 U GISHT H 2 16000 D1 YRTIRI Aehghg ST D 10% dTNh &R TR 4 T4 & (oY A &1 4 98 & fd |
f2rat & fham! M-I U 3R (1 ¥ & Mdean)

Options :
| ® £ 23,000

, » 23,425
3 % 220,000

4 ® 20,025



Question Number : 52 Question Id : 7532293088 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Excluding stoppages. the speed of a metro is 60 kmph and including stoppages. it is 45 kmph. For how many minutes
does the metro stop per hour?
Options :

1% 12

2.« 15

Question Number : 52 Question Id : 7532293088 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

ogdld ﬁ@ﬁﬁ@%,ﬂ@ﬁﬂﬁﬁﬂhﬂpﬁ%ﬁmﬂﬁﬁ1176'45 kmph%] Dﬁﬂ%ﬁ@ﬁﬁ%ﬁqﬁ%ﬁﬂm
8?

Options :

1 ® 12

2.« 15

Question Number : 53 Question Id : 7532293089 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option



Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25

Amit can finish a work in 4 days and Sumit can do the same work in 6 days. If they work together, then the work will be
finished in how many days?
Options :

Question Number : 53 Question Id : 7532293089 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

3T 4 &1 o U B1d THTG R Ghdl § SR YHd a6l &1 6 & § S avdl | AlE 3 GF1 U 91d &1 $Hed
&, A 98 B fdha 131 H QI 81 Sem

Options :




Question Number : 54 Question Id : 7532293090 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
A is as efficient as B and C together are. A, B and C all together can finish a work in 12 days. A alone will finish the
work in how many days?
Options :
1.« 24

) # 12
3 #® 20

i

Question Number : 54 Question Id : 7532293090 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

A BT 81 YUl g o1+ B 2R ¢ I @R 81 A, B SR ¢ 3 99 fieiaR 12 T H U 1 QUi R g 21 A
Hohall gel Sy fava f&l # gul e

Options :
1.« 24

r ® 12
3 % 20

w"‘l"‘l



Question Number : 55 Question Id : 7532293091 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Find the number of tiles to be laid in a square swimming pool of side 20 m, if the side of each square tile is 40 cm.
Options :

| % 900

> % 1600

3.« 2500

Question Number : 55 Question Id : 7532293091 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

i YD FIbR () TISA BT YOl 40 cm 8, TN 20 m BT YSETS TR () REFERT gt H feesrg 9 arell ergal &l
T 1T e |

Options :

1. % 900

, % 1600

Question Number : 56 Question Id : 7532293092 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option



Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25

The ratio of the base area and curved surface area of a conical tent is 40 : 41. If the height of the tent be 18 m, then the

radius of the base will be:
Options :
1.« 80m

> % 160m
3 % 40m

4. % 100m

Question Number : 56 Question Id : 7532293092 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

U YFAIHR ¢ & YR b &Fh U9 ISP Geb USSIY &HT B 0N 40 : 41 51 AiG S P1 Hdlg 1S m 8, Tl
IYb YR P HoT1 1 B
Options :

1.« 80m
> # 160 m
3 % 40m

4. % 100m

Question Number : 57 Question Id : 7532293093 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25
Study the following pie chart carefully and answer the questions given.
Total production of onions = 16000 metric ton

Leading Onion Producing States
{ 2010-11)

Others

15% _‘\"‘“-_._,,_"

HARYANA

3% MAHARATHTRA

33%

RAJASTHAN
=4

AMDHRAA PRADESH
5%

MaDHYA PRADESH
%

What is the central angle (in degrees) corresponding to the states of Maharashtra. Bihar. Rajasthan and Andhra Pradesh?
Options :

1 % 198.2

) % 124.6

3 ¢ 1728

4 % 156.7



Question Number : 57 Question Id : 7532293093 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frrafaf@d % ¢ 1 eaEEE seaa w 3R e v gest F 3o R/

AT & FoA Icde = 16000 g e

ool @ IcUee Tod
(2010-11)

Hed

15% e
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e

MEERIG)
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HUg gder
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[CIES

]
1%

10%

TAERTSE (Maharashtra), fgR (Bihar), T=ITaT=T (Rajasthan)
3R 3my e (Andhra Pradesh) T3l & &S Had HioT

(f2afr &) =Far 22



Options :
1 ® 198.2

, % 124.6

3¢ 1728

4 % 156.7

Question Number : 58 Question Id : 7532293094 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



Study the histogram given which represents the marks obtained by the students in an exam and answer the questions.

&0
50
40
= 30
=
+7T)
=
=
¥ 20
w
10 -
O - — X

10 20 30 40 50
Class Interval }

Find the class interval having the greatest frequency.
Options :

1.« 10-20

> # 20-30

3 % 30-40

4 % 40-50



Question Number : 58 Question Id : 7532293094 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

I feu T fRe A &1 21T oY, O Ueh ULie H BE gRIUKie! & S=Ifdr g 2R -id Ru MU gyl &1 IR |

20

10 T

10 20 30 40 50
I I S

Ty 24P gRARAl (frequency) 9l I AR (class interval) JITd HIfST|
Options :

| v 10-20

5 % 20-30

3 % 30-40



4 % 40-50

Question Number : 59 Question Id : 7532293095 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Study the following bar graph and identify the modal day of the week:

Number of students
a8
7
B
5
4
2
& |
a 4 1 T T -
IF F ~$v."’ & & g

Options :
| ® Wednesday

, % Monday
» Saturday

3

4 % Sunday



Question Number : 59 Question Id : 7532293095 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

A e T8 SR U1 1 320 $X 3R EIE & SgUD! (modal) &1 1 Ug=H HY|

faenften &6t sse=n

@%‘“é&fﬁ@%ﬁ“

Options :
| = JHAR (Wednesday)

L T e o T L o ¥ R = T I

% W{Monday]
3 QAR (Saturday)

% AR (Sunday)

Question Number : 60 Question Id : 7532293096 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25
The histogram shows the Marks obtained in a test out of 100 with their frequencies.

Fresquency

3 [ 1

o 10 20 30 40 50 50 To 80 30

Marks obtained in a test oot of 10D

Which intervals have the same frequency?
Options :
| = (10-20 and 80-90)

) % (50-60 and 60-70)

3 Both (10-20 and 80-90) and (50-60 and 60-70)

4 % Each interval has a different frequency

Question Number : 60 Question Id : 7532293096 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25

fE¥cIum, U Uien & 100 H § U 2ieh! Bl 379! Mgl & 9y @ gl

1 [ |

o 10 20 30 40 50 6D TO B0 a0

v gliam # 100 & & "ed Hh

ggl fleu e fexcH & S, {5 SfeRTA B 3%@%[ (frequency) HHIT 82
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General English
Group Number : 4
Group Id : 753229168
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Show Attended Group? : No
Edit Attended Group? : No
Break time : 0
Group Marks : 20
Is this Group for Examiner? : No
General English
Section Id : 753229168
Section Number : 1
Section type : Online
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Number of Questions : 16
Number of Questions to be attempted : 16
Section Marks : 20
Enable Mark as Answered Mark for Review and Clear Response : Yes
Sub-Section Number : 1
Sub-Section Id : 753229201
Question Shuffling Allowed : Yes

Question Number : 61 Question Id : 7532293097 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option

Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



In the sentence given below, four words/phrases have been underlined. Select the words/phrase that contains an error.

A group of boys were skipping stones across the pond.
Options :

1. # A group

2. ¥ were

3. % skipping

4. % across

Question Number : 61 Question Id : 7532293097 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
In the sentence given below, four words/phrases have been underlined. Select the words/phrase that contains an error.

A group of boys were skipping stones across the pond.

Options :
1. % A group
2. ¥ were
3. # skipping

4. % across

Question Number : 62 Question Id : 7532293098 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
In the sentence given below, four words/phrases have been underlined. Select the words/phrase that contains an error.

We got rid from all the old furniture.
Options :

1. ¥ got

2. ¥ rid from

3. % all

4. % old furniture



Question Number : 62 Question Id : 7532293098 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
In the sentence given below, four words/phrases have been underlined. Select the words/phrase that contains an error.

We got rid from all the old furniture.
Options :

1. # got

2. ¥ rid from

3. % all

4. *# old furniture

Question Number : 63 Question Id : 7532293099 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the option that can best substitute the following set of words.

Related to heredity or genes
Options :

1. * Parental

2. ¥ Genetic

3. % Disorder

4. % Linear

Question Number : 63 Question Id : 7532293099 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the option that can best substitute the following set of words.

Related to heredity or genes
Options :

1. # Parental

2. ¥ Genetic



3. #* Disorder

4. * Linear

Question Number : 64 Question Id : 7532293100 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the option that can best substitute the following set of words.

Excessively concerned with material possessions
Options :

1. * Generous

2. % Jealous

3. % Needy

4. ¥ Materialistic

Question Number : 64 Question Id : 7532293100 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the option that can best substitute the following set of words.

Excessively concerned with material possessions
Options :

1. # Generous

2. # Jealous

3. % Needy

4. ¥ Materialistic

Question Number : 65 Question Id : 7532293101 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the word which is closest in meaning to the word given below:

Stellar



Options :

1. ¥ Starry
2. # Steely
3. % Heroic
4. # Stylish

Question Number : 65 Question Id : 7532293101 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the word which is closest in meaning to the word given below:

Stellar
Options :

1. ¥ Starry
2. % Steely
3. % Heroic
4. % Stylish

Question Number : 66 Question Id : 7532293102 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the word which is opposite in meaning to the word given below:

Change
Options :

1. ¥ Make

2. % Stand

3. #* Neutralize
4. ¥ Stabilize

Question Number : 66 Question Id : 7532293102 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



Select the word which is opposite in meaning to the word given below:

Change
Options :

1. # Make

2. % Stand

3. % Neutralize
4. ¥ Stabilize

Question Number : 67 Question Id : 7532293103 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Choose the correct spelling from the options given below:
Options :

1. # Sciencetist

2. ¥ Scientist

3. # Scientest

4. # Sceintist

Question Number : 67 Question Id : 7532293103 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Choose the correct spelling from the options given below:
Options :

1. # Sciencetist

2. ¥ Scientist

3. % Scientest

4. % Sceintist

Question Number : 68 Question Id : 7532293104 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



Choose the correct spelling from the options given below:
Options :

1. ¥ Amalgation

2. % Amalmagation

3. ¥ Amalgamation

4. % Amalganation

Question Number : 68 Question Id : 7532293104 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Choose the correct spelling from the options given below:
Options :

1. * Amalgation

2. % Amalmagation

3. ¥ Amalgamation

4. % Amalganation

Question Number : 69 Question Id : 7532293105 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the most appropriate meaning of the idiom:

Get someone's goat

Options :

1. # To buy a goat from someone
2. % To steal someone's belongings
3. % To upset or irritate someone

4. # To make too many mistakes at the workplace

Question Number : 69 Question Id : 7532293105 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



Select the most appropriate meaning of the idiom:

Get someone's goat

Options :

1. # To buy a goat from someone
2. # To steal someone's belongings
3. ¥ To upset or irritate someone

4. % To make too many mistakes at the workplace

Question Number : 70 Question Id : 7532293106 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the most appropriate meaning of the idiom:

Cold Turkey

Options :

1. # To quickly fetch a turkey from the freezer before one's hands get cold
2. ¥ To quit an addictive habit abruptly and completely

3. # To work at a butcher's shop selling specialty chicken and turkey

4. % To make a sandwich using leftover turkey kept in the fridge

Question Number : 70 Question Id : 7532293106 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the most appropriate meaning of the idiom:

Cold Turkey

Options :

1. # To quickly fetch a turkey from the freezer before one's hands get cold
2. ¥ To quit an addictive habit abruptly and completely

3. ® To work at a butcher's shop selling specialty chicken and turkey

4. ® To make a sandwich using leftover turkey kept in the fridge



Question Number : 71 Question Id : 7532293107 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Arrange the given sentences in the most logical order to construct a coherent paragraph and choose the correct combination.

A. When he saw physically challenged children playing wearing the new calipers, his eyes were filled with tears of joy.
B. Abdul Kalam loved children and spent most of his leisure time helping them.

C. Once he was requested to make a caliper for disabled children using light metal.

D. His team designed calipers using very light material which is used in making missiles.

Options :

1. ¥ CDAB
2. % DCAB
3. % ABCD
4. ¥ BCDA

Question Number : 71 Question Id : 7532293107 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Arrange the given sentences in the most logical order to construct a coherent paragraph and choose the correct combination.

A. When he saw physically challenged children playing wearing the new calipers, his eyes were filled with tears of joy.
B. Abdul Kalam loved children and spent most of his leisure time helping them.

C. Once he was requested to make a caliper for disabled children using light metal.

D. His team designed calipers using very light material which is used in making missiles.

Options :

1. ¥ CDAB
2. % DCAB
3. % ABCD
4. ¥ BCDA

Question Number : 72 Question Id : 7532293108 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Arrange the given sentences in the most logical order to construct a coherent paragraph and choose the correct combination.



A. Moreover, they are always waiting patiently to talk to him, ready to entertain him thus helping him, to be relieved of the weariness of his
mundane life.

B. Reading makes a man happy and a man who reads will be happier and wiser than the one who does not.

C. Secondly, for such a person, books are always his most faithful friends who will stay by his side.

D. When he reads, first his entire horizon of knowledge is expanded.

Options :

1. ¥ DCBA
2. % ACDB
3. ¥ CADB
4. ¥ BDCA

Question Number : 72 Question Id : 7532293108 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Arrange the given sentences in the most logical order to construct a coherent paragraph and choose the correct combination.

A. Moreover, they are always waiting patiently to talk to him, ready to entertain him thus helping him, to be relieved of the weariness of his
mundane life.

B. Reading makes a man happy and a man who reads will be happier and wiser than the one who does not.

C. Secondly, for such a person, books are always his most faithful friends who will stay by his side.

D. When he reads, first his entire horizon of knowledge is expanded.

Options :

1. # DCBA
2. % ACDB
3. ¥ CADB
4. ¥ BDCA

Question Number : 73 Question Id : 7532293109 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Choose the correct alternative to the underlined part, which may improve the sentence.

The father could not get his son nail into the business deal.

Options :

1. # nail up



2. % nail on
3. % nail down

4. % No improvement

Question Number : 73 Question Id : 7532293109 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Choose the correct alternative to the underlined part, which may improve the sentence.

The father could not get his son nail into the business deal.

Options :
1. % nail up
2. # nail on

3. % nail down

4. ¥ No improvement

Question Number : 74 Question Id : 7532293110 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Choose the correct alternative to the underlined part, which may improve the sentence.

The children now-a-days are more aware than they were in the past.
Options :

1. # most aware

2. # mostly aware

3. % as aware

4. ¥ No improvement

Question Number : 74 Question Id : 7532293110 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Choose the correct alternative to the underlined part, which may improve the sentence.



The children now-a-days are more aware than they were in the past.
Options :

1. # most aware

2. ® mostly aware

3. % as aware

4. ¥ No improvement

Question Number : 75 Question Id : 7532293111 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Fill in the blank with the most appropriate option.

Nobody the danger that the world is going to face in the future due to the greenhouse effect.
Options :

1. # will not foresee

2. # cannot foresee

3. % shall not foresee

4. % can foresee

Question Number : 75 Question Id : 7532293111 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Fill in the blank with the most appropriate option.

Nobody the danger that the world is going to face in the future due to the greenhouse effect.
Options :

1. # will not foresee

2. # cannot foresee

3. % shall not foresee

4. ¥ can foresee

Sub-Section Number : 2

Sub-Section Id : 753229202
Question Shuffling Allowed : Yes



Question Id : 7532293112 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension Questions
: No

Question Numbers : (76 to 80)

Read the following Passage and answer the questions that follows.

Growing up, the name Sherlock Holmes would immediately evoke a visually rich image. A sleuth stalking across the bustling streets of 19th
century London, obsessing over his cases and smoking opium in their absence, being both the object of admiration and annoyance in Dr.
Watson’s books, and intriguing everyone with his intelligence and eccentricities.

The image still remains extremely vivid and retains the core parts of his personality, although Sherlock now resides in 21st century London,
wears nicotine patches and appears in John’s blog. Purists might say that this isn’t the Sherlock Holmes from Sir Arthur Conan Doyle’s legendary
novels. However, I feel that nothing elucidates the strength and timelessness of Sir Arthur’s stories like Sherlock, the BBC show that proved that
the character would continue to inspire awe from audiences globally, no matter which era he was represented in.

A decade ago, when the drama aired its pilot, no one had any idea how big it would become. But, the game was on. Not only did it transform the
way the sleuth was traditionally viewed, but also introduced a new generation to his adventures.

The show began by subverting conventional narratives, with John Watson getting a far more central arc than Sherlock. Martin Freeman plays an
unusually awkward, timid (and moustache-less) John Watson, that made him instantly endearing.

Benedict Cumberbatch, playing the iconic Sherlock impressed with his thick mane, intent stare or Alan Rickman-esq baritone. Viewers were sold
on his casting in mere seconds. His first scene as the consulting detective was one of the greatest character introductions in pop culture, and his
deductive monologues and enthusiasm for new cases lived up to the quintessential Doyle hero.

Freeman and Cumberbatch share undeniable chemistry, with the former’s restrained and diplomatic Watson being a great foil to the excitable and
self-obsessed Sherlock. The two actors feed off each other’s energy in tense scenes, and turned out to be an excellent comedic duo, with their
obvious intellectual and emotional gap leading to organic laughs, but never becoming a caricature.

Sub questions

Question Number : 76 Question Id : 7532293113 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Who is the author of the iconic Sherlock Holmes mysteries?
Options :

1. * Agatha Christie

2. % Hercule Poirot

3. * Alan Rickman

4. ¥ Arthur Conan Doyle

Question Number : 77 Question Id : 7532293114 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25

Which option is closest in meaning to the phrase ‘the game is on’?
Options :

1. #¥ To begin playing a football match

2. # To fight a duel to the finish

3. ¥ To be ready to issue a challenge and face it competently

4. # To be part of a troublesome situation

Question Number : 78 Question Id : 7532293115 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which option is closest in meaning to the word ‘subverting’ as used in the passage?
Options :

1. % Subletting

2. % QOverturning

3. # Contracting

4. % Terrorism

Question Number : 79 Question Id : 7532293116 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Use a word from the passage and fill up the blank in the following sentence:

Meena Kumari was the Indian beauty.
Options :

1. # Impressed

2. ¥ Quintessential

3. % Deductive

4. ¥ Unusually

Question Number : 80 Question Id : 7532293117 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



What did the new edition of the BBC TV show ‘Sherlock’ establish?

Options :

1. ¥ Benedict Cumberbatch was a better Sherlock than the actor in the earlier edition of the show.

2. % The interpretation of the principal characters was simply not in line with the original books on which the show was based.
3. ¥ The strength and timelessness of the principal character would appeal and attract audiences in any era.

4. # The taste of audiences had changed over the decades and they rejected a show based on a character that had been played perfectly before.

Question Id : 7532293112 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension Questions
: No

Question Numbers : (76 to 80)

Read the following Passage and answer the questions that follows.

Growing up, the name Sherlock Holmes would immediately evoke a visually rich image. A sleuth stalking across the bustling streets of 19th
century London, obsessing over his cases and smoking opium in their absence, being both the object of admiration and annoyance in Dr.
Watson’s books, and intriguing everyone with his intelligence and eccentricities.

The image still remains extremely vivid and retains the core parts of his personality, although Sherlock now resides in 21st century London,
wears nicotine patches and appears in John’s blog. Purists might say that this isn’t the Sherlock Holmes from Sir Arthur Conan Doyle’s legendary
novels. However, I feel that nothing elucidates the strength and timelessness of Sir Arthur’s stories like Sherlock, the BBC show that proved that
the character would continue to inspire awe from audiences globally, no matter which era he was represented in.

A decade ago, when the drama aired its pilot, no one had any idea how big it would become. But, the game was on. Not only did it transform the
way the sleuth was traditionally viewed, but also introduced a new generation to his adventures.

The show began by subverting conventional narratives, with John Watson getting a far more central arc than Sherlock. Martin Freeman plays an
unusually awkward, timid (and moustache-less) John Watson, that made him instantly endearing.

Benedict Cumberbatch, playing the iconic Sherlock impressed with his thick mane, intent stare or Alan Rickman-esq baritone. Viewers were sold
on his casting in mere seconds. His first scene as the consulting detective was one of the greatest character introductions in pop culture, and his
deductive monologues and enthusiasm for new cases lived up to the quintessential Doyle hero.

Freeman and Cumberbatch share undeniable chemistry, with the former’s restrained and diplomatic Watson being a great foil to the excitable and
self-obsessed Sherlock. The two actors feed off each other’s energy in tense scenes, and turned out to be an excellent comedic duo, with their
obvious intellectual and emotional gap leading to organic laughs, but never becoming a caricature.

Sub questions

Question Number : 76 Question Id : 7532293113 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Who is the author of the iconic Sherlock Holmes mysteries?
Options :



1. # Agatha Christie
2. # Hercule Poirot
3. % Alan Rickman
4.« Arthur Conan Doyle

Question Number : 77 Question Id : 7532293114 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which option is closest in meaning to the phrase ‘the game is on’?
Options :

1. # To begin playing a football match

2. # To fight a duel to the finish

3. ¥ To be ready to issue a challenge and face it competently

4. # To be part of a troublesome situation

Question Number : 78 Question Id : 7532293115 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which option is closest in meaning to the word ‘subverting’ as used in the passage?
Options :

1. # Subletting

2. % Overturning

3. % Contracting

4. % Terrorism

Question Number : 79 Question Id : 7532293116 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Use a word from the passage and fill up the blank in the following sentence:

Meena Kumari was the Indian beauty.
Options :

1. # Impressed



2. ¥ Quintessential
3. # Deductive
4. ® Unusually

Question Number : 80 Question Id : 7532293117 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

What did the new edition of the BBC TV show ‘Sherlock’ establish?

Options :

1. ¥ Benedict Cumberbatch was a better Sherlock than the actor in the earlier edition of the show.

2. # The interpretation of the principal characters was simply not in line with the original books on which the show was based.
3. ¥ The strength and timelessness of the principal character would appeal and attract audiences in any era.

4. ® The taste of audiences had changed over the decades and they rejected a show based on a character that had been played perfectly before.

General Hindi
Group Number : 5
Group Id : 753229169
Group Maximum Duration : 0
Group Minimum Duration : 0
Show Attended Group? : No
Edit Attended Group? : No
Break time : 0
Group Marks : 20
Is this Group for Examiner? : No

General Hindi

Section Id : 753229169
Section Number : 1

Section type : Online
Mandatory or Optional : Mandatory



Number of Questions : 16

Number of Questions to be attempted : 16

Section Marks : 20

Enable Mark as Answered Mark for Review and Clear Response : Yes
Sub-Section Number : 1
Sub-Section Id : 753229203
Question Shuffling Allowed : Yes

Question Number : 81 Question Id : 7532293118 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
3RV Ve, BT TATTATE Veq, HIF-TT 3 2
Options :

1. * dH

2. % Ug

3. % D[

4. % qIfcpI

Question Number : 81 Question Id : 7532293118 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
3RV’ Veg, BT TATIATE Veq, HIF-TT g 2
Options :

1. % dH

2. % US

3. ¥ P

4. % qrfeeT

Question Number : 82 Question Id : 7532293119 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

FqHR WW%



Options :

1. ¢ UJd-q ol
2. % U[ay ol
3. % 3] Dbl
4, % dehdld Pl

Question Number : 82 Question Id : 7532293119 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
HER TATIaTd eG g

Options :

1. % Ud- &l

2. % Uy ol

3. % 3] Dbl

4. % b dld dl

Question Number : 83 Question Id : 7532293120 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
ferea &1 fae wreg @:

Options :

1. * RIdT

2.9 AR

3. % 3ffer=

4. % T

Question Number : 83 Question Id : 7532293120 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
foR= &1 fad ¥res &:

Options :



1. % RO
2. ¥ TR
3. % 3ffe
4. % gdq

Question Number : 84 Question Id : 7532293121 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fFufeiead weal & A TTH e BT T HIoI?

Options :
1. % GR
2. % Wd
3. ¥ R
4, ¥ DU

Question Number : 84 Question Id : 7532293121 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
fafoRed weal # ¥ T eq &1 T8 HIforg?
Options :

1. % @R

2. % W@d

3. % R

4. ¥ PU[

Question Number : 85 Question Id : 7532293122 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
frfeiad 2rsal # 9 31 T ea BT IT BifoT?
Options :

1. ¢ S




2. #® 3lgc
3. % AHHY
4. % YhIRI

Question Number : 85 Question Id : 7532293122 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

foferfad wregl 7 9 31ef ITH e T T HIO1T?

Options :
1. ¢ St
2. % 3fl[gc
3. % ST
4, % YDI

Question Number : 86 Question Id : 7532293123 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
®IH-91 Ueg G T8l 82

Options :

1. % QRIq

2. % ¢xM

3. v XM

4. % Q4

Question Number : 86 Question Id : 7532293123 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
$H-91 G G ol 62

Options :

1. % Q9

2. % G




3. v dxH
4. % GO

Question Number : 87 Question Id : 7532293124 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

30 T fawedl & @ TR I FfHfa Weg &1 997 Sifor|
Options :

1. % AR

2. % (RO

3. ® fARTBRm

4. ¢ fsBROT

Question Number : 87 Question Id : 7532293124 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

3 T fawmed! O 9 TR 9 FfHd e &1 994 Hifo|
Options :

1. % (PR

2. % R

3. % fRTeRRUT

4. ¢ fsBRU

Question Number : 88 Question Id : 7532293125 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
HIF-97 fgT] T /2

Options :

1. % gqdig

2. % TEgY

3. % FIYUS



4. ¢ Bd®

Question Number : 88 Question Id : 7532293125 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
D91 feT] Tar 72

Options :

1. % d4dg

2. % J<qd

3. % GIYIUTS

4.« il

Question Number : 89 Question Id : 7532293126 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

US-NY AT & Sia HI YR g | § TafaR01 BI Aferd -1 I4d § 1 e § Fa-H -
Options :

1. % Us-q19

2. % HI¥Y

3. % TYIaRO

4.¥ 9

Question Number : 89 Question Id : 7532293126 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

TS-UIY AT & ST BT YR g | d TR0 B Uferd a8 I9Gd § | a1 § 94 8-
Options :

1. % Ug-Oe

2. % Y

3. % ggfaRUl

4.7




Question Number : 90 Question Id : 7532293127 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

9 & & iy e o1 ISR 8-

Options :

1. ¥ IR U TS Yea X ¢ fored fot ot iR e B

2. % {1 IwI8 & o1 4Red g

3. % A g3 3R R Fed U3

4. % 4= SeH! I ol gIdT &; fbg a8 Wy el Bidll

Question Number : 90 Question Id : 7532293127 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

0 & 9 sy a1 F1 IET8RT 5-

Options :

1. ¢ IR U TP Uegh1¥ ¢ fd o ot fRa e 1

2. % 9T 90TE & ST gR&A B

3. % YA g8 3R IR Fed U3 |

4. % YT fTGH gl I 81 &; fohg a8 Iy T2 gl

Question Number : 91 Question Id : 7532293128 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

e @ e a1 T IeTeRU g -

Options :

1. % T G <) W, IR S 9Ty U gl |
2. % H TR T T, 3TfeTE I fo Tt 16T o e
3. % T 3% I8! T 3R A 81 d g2 oIFd 5 |

4.« e 3T TR A < 37T 9710 = STd |




Question Number : 91 Question Id : 7532293128 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

79 & & Igad a1eg $T 3aex0 ol 6-

Options :

1. % T G < G, TR S 1Y O gt oA
2. % T OR TA1 4T, 3feY 39 fa T d el off 9aT|
3. % T 3% 7! o1 3R A 81 9 g2 S ] |

4.« TS 39 B A o ST 7109 9 S|

Question Number : 92 Question Id : 7532293129 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
STHYSY BT &Y BRI Tl Wsg T8l o-
Options :

1. % Hd

2. % gH

3. % IR

4. ¢ JRRI

Question Number : 92 Question Id : 7532293129 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
ITHYSY BT &Y FHRI T eg T8l 6-
Options :

1. = Hd

2. % gH

3. % I

4. % JRRI

Question Number : 93 Question Id : 7532293130 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option



Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25

BRI AT T U1-eg! & 3fd B g & I ford auf &1 Sire @ sgaeH sa1 82
Options :

1. % gf

2.1

3.% U

4. %%

Question Number : 93 Question Id : 7532293130 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

BRI AT Tdhaa TT-Tsg! & 3fd & 5 & 9 ford auf &1 Sirg @ agae- sd1 82
Options :

1. % 9]

2.1

3.% U

4.% %

Question Number : 94 Question Id : 7532293131 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

e 4 @ g fug ot ugaH STl

Options :

l.®= ..

2. %
3.¢ ()
4. % |

Question Number : 94 Question Id : 7532293131 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25
91 9 piye g © ugaH Sifvg|
Options :

1. #

Question Number : 95 Question Id : 7532293132 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
79 O 9§ Y a1 BT 994 DiforT|
Options :

1. % dcl H gg 8l Tl

2. % g 30 IR TR ¢

3. % faefidl &1 Rg S @1 5

4.« 98 Td $! G1-IR BT e ]

Question Number : 95 Question Id : 7532293132 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

9 O ¥ Y a1 &1 994 Dl

Options :

1. % ¢ 4 gg g1 7|

2. % TH 30 SRR PR G

3. % faenffal 1 iRkl S ET B

4.« 98 Md &1 QIR HigaT Ml g |

Sub-Section Number : 2
Sub-Section Id : 753229204
Question Shuffling Allowed : Yes




Question Id : 7532293133 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension Questions
: No
Question Numbers : (96 to 100)

3T 77U IR BT 31T B 3R 9P 1l T gu sl b1 SR < |

g TUR BHYH § | Uil ot o il =1cf 351 &1 G, T #fR 3170 T8 S{U1-3(01 i A1 g €1 b Uoft U1 71 & Sft &6 T bRl o7
3{TER B! AT Bl THRAT, JeTT SR I T UIer1, FHT-SIHT, TAT-0hRT, 4O IUFRYT g TR 11T &bt FraeT T, SO A
SETT AR STHT UTTH-GI0T BT M 314 B 2 ol Ay 1R & ofid el §1 I8 lﬁﬂﬂ@%%ﬁﬁﬁﬁﬂﬁ@?%ﬁﬂ'@%%l
&4 P f31 cafa, IS T 3 BT 7T &1 Y B S| I8 R T3 81 8- TR-gR, TSP-T8%, He-HREM, SerTIe! I IR db &
e, I, A Rrem 3 wer, e 3 v, WR-0HY 3R U1 SR BT - wﬁ@rsﬁwagw%mﬁ@rsﬁng&ﬁwﬁmﬁwuﬁ
8- 391 Hﬁgﬁuselsql Rl ) Tl AR ST B STl BT TIe0r R ST B

T4 Sta &l Ihd & & fore 9 Freml T Icerd SHR URA] B §am T 8- I, Hiad 3R &1 3= uifora) § ufad et 81 9«

3 2t IepT HAT § S I o SR ed1aft 1 Q1 R o T STl & | T1-GT § STHT I8 I S P I §, ITH P gfet Tel
&3 | A9 &1 I g df faw, WWlﬁFﬂﬂT%lﬁﬂMH%;ﬂﬂ SR g | T I8! AR & ol HH B 3F TG H Te[H 8l | HH Pl
S Uy &1 Mar & ot B ) AieE iR HHB BT IRAH 1 3= HHI BT 3T B, X HH BT 3R el e &l 8

T DI UG Ul o IR G|

Sub questions

Question Number : 96 Question Id : 7532293134 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

TR T et Iuged e Faffea & 3 s g
Options :

|. % TagIR® A

2. % HGAGING HH

3. % JM, Hidd IR HH

4. ¥ $H H1 AT

Question Number : 97 Question Id : 7532293135 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
T3 A Ui W by g fasm arg?

Options :



1. % A7 A IH 9 UHfd R fasa U |
2. % A9 A Hfed ¥ U id IR oo Tr5 |
3. % O 7 UG 4 UHid IR faog urs |
4. ¢ TG A FHH I UHfd R fqog Ui |

Question Number : 98 Question Id : 7532293136 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

HTd Sita &l e 914 & ot fob i anel o1 IceiRa gAR Rl & 91 11 82
Options :

1. % 3TER & IR BT, M 3R Ue uraT

2. % T, ST 3R HH HAT

3. % Tl HRAT, ST HRAT 3R Hidd BT

4. ¢ JH, vfad 3R

Question Number : 99 Question Id : 7532293137 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

TR & 3MMYR W, Fgferiad & @ HH-91 HUF Tdd 82
Options :

1. % g ot 5 X &

2. % g, g 3R 30 U8 HH 3d g |

3. ¥ U™ &1 I SRAifid g

4. % 3= ATTORAT & S H gl A gfes 781 g% o

Question Number : 100 Question Id : 7532293138 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

T & YR W, T & &Y H 3T HYF BT 99 Bl |
Options :

1. ¢ AT &1 7 SR 8|

2. % HH & [T FH IR B



3. % O &1 I famd 5|
4. % B B AN M dTel J AR B

Question Id : 7532293133 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension Questions
: No
Question Numbers : (96 to 100)

3T 77U IR BT 3naT B 3R 9P il AT gu el b1 SR < |

T8 R HHYH | Ui ot & Sct I 38! 8| G, T SR 30 U SUAT-3UT HH A1 I & | g UToll U1 181 § off HH 7 Har 8l
3{TER B! AT Bl AT, JeT SR I U UIer1, THT-SIHT, T1-0h-1, 4 IUFRYT g TR T1TT &bt QraeT T, 3ot A
SETT 3R ST UTE- G0 BT 3 33 & ot Fsy 1R F o el 1 378 ol g o forg o bt FaeT ofR TR e 31 &
&4 P 31 cafa, THTST a1 3 17T &1 Y B S| I8 a1 T8 81 8- TR-GR, TSP-T8%, Ha-HREM, SerTe! I IR ab &
e, AT, A Rrem 3 wrer, e 3 v, WR-0HY 3R U1 3R BT - Haaﬁﬁﬁa?ﬂnag&n%mﬁﬁﬁngwﬁmmﬁwuﬁ
8- 391 Hﬁgaﬁuselsql RN F e AR BT A Sl BT GIT R STA B

Od S1a- &1 Wl a1 & foT oI T1e BT Ieed gHR R § §drd 77 8- I, Hiad 3R S | 3= Tifor § ufdd et 8 gaat|
T 1) 7T SRI 2 O I e SR ATSN B QT B I T AT 2| TG A ST I8 1 I T 31 2, 39 B gfg e
&S| A &1 I & df fauna, R Iue! oft i g1 fomr & & I qule%l;IHa‘eﬁoulqsnaob%Gﬁﬁﬁ&nﬁdemﬁuslqwﬁloru-lﬁ
S Uy &1 ar & ot B ) A iR FHB BT ITEAH 3| 3= HHI BT 31 B, T HH| 1 §R1 el fiadl gl 8

TRITRT Y Ugdh Ul & ST aifor|

Sub questions

Question Number : 96 Question Id : 7532293134 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

TRITRT 1 Al IUgad My Hafarad & I o1 g
Options :

1. % HAgIRe M

2. % HEEING HH

3. % M, Yl 3R HH

4. HH BT Jgd

Question Number : 97 Question Id : 7532293135 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25
TS A UPhfd W e R faorg urg?
Options :

1. % O A IH 9 UPfd R oo U |

2. % TS A Hiad ¥ Upfd R fasa o |
3. % A A HHGA I UHfd R oo arg |
4. A A HH Y Ui W e g |

Question Number : 98 Question Id : 7532293136 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

qTd e &1 o d 9914 & ot fobet i anel o1 IceiRa gAR URal & ST 11 82
Options :

1. % 3ER & T BT, M 3R Ue ura-T

2. % T, SR 3R HH BT

3. % G BT, A BT 3R HiFT BT

4. ¢ M, Hidd 3R HH

Question Number : 99 Question Id : 7532293137 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

TR & SR W, FAfifed & § SH-91 H4= 7ad 672
Options :

1. % Tt o7oft o v &

2. % ), g SR S Ug HH IRA & |

3. ¢ TS &1 I SR B

4. % 3 YTOR & I91 8 g7 4 9fg e g5 6|

Question Number : 100 Question Id : 7532293138 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
T & YR W, IH & A6 H 39T HYH BT I3 Do |



Options :

1. ¥ A &1 I SRAAd g

2. % HH & ST I PR B

3. % U™ &1 9 fa=a 5|

4. % B B T TG Il I ATTEING g

Group Number :

Group Id :

Group Maximum Duration :
Group Minimum Duration :
Show Attended Group? :
Edit Attended Group? :
Break time :

Group Marks :

Is this Group for Examiner? :

Section Id :

Section Number :

Section type :

Mandatory or Optional :

Number of Questions :

Number of Questions to be attempted :
Section Marks :

Enable Mark as Answered Mark for Review and Clear Response :

Sub-Section Number :
Sub-Section Id :
Question Shuffling Allowed :

Disciplinel

6
753229170

Disciplinel

753229170
1

Online
Mandatory
20

20

20

Yes

1
753229205
Yes



Question Number : 101 Question Id : 7532293139 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
The study of fruits is known as:

Options :

1. ¥ pomology

2. # floriculture

3. % olericulture

4. % arboriculture

Question Number : 101 Question Id : 7532293139 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Wl T ST, FT Hyardl 67
Options :

1. ¢ grHrdrst

2. % TRIRIP R

3. % 3MCRIBeR

4. % 3fIRIPeR

Question Number : 102 Question Id : 7532293140 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
The famous Petha sweet is prepared from:
Options :

1. ¥ ash gourd

2. ® ridge gourd

3. ¥ pumpkin

4. ¥ bottle gourd

Question Number : 102 Question Id : 7532293140 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25

UaT e Ui TS, fhad daR &1 oKt 82
Options :

1. ¥ $HUE (TG Hgg)

2. % R 3

3. ¥ g

4. % QD!

Question Number : 103 Question Id : 7532293141 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
The pungency of chillies is due to:
Options :

1. # coumarin

2. # resin

3. % capsaicin

4. % cucurbitacin

Question Number : 103 Question Id : 7532293141 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
fore o1 <fiamo, frads wRu gl 32
Options :

1. % DARA

2. % AGH

3. ¥ SRR

4. % HPHRASCIR

Question Number : 104 Question Id : 7532293142 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



The word ‘insect’ is derived from the language.
Options :

1. % Greek

2. % Latin

3. % Ttalic

4. % Arabic

Question Number : 104 Question Id : 7532293142 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

TIIGE (insect)’ TG T Y Ja g g
Options :

1. % TN

2. ¢ difed

3. % gdradl

4. % 3R

Question Number : 105 Question Id : 7532293143 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Rasping and sucking type of mouth parts are present in:
Options :

1. ¥ thrips

2. # honey bees

3. * house flies

4. # grasshoppers

Question Number : 105 Question Id : 7532293143 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
A SR IS UHR & @, fhad Iufyd gid &7

Options :



Question Number : 106 Question Id : 7532293144 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The a sexual fruiting body of Fusarium is called as
Options :

1. # Pycnidium

2. % Synnemata

3. % Acervulus

4. ¥ Sporodochium

Question Number : 106 Question Id : 7532293144 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

qg?ﬁ’mn (Fusarium) 1 g e S (sexual fruiting body), & g T S o1 g
Options :

1. ® fUpfafsan (Pycnidium)

2. % RydTe (Synnemata)

3. % W(Acervulus)
4. ¢ WRTSIgH (Sporodochium)

Question Number : 107 Question Id : 7532293145 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
The Father of plant tissue culture is:
Options :

1. ¥ Gottlieb Heberlandt



2. # Karl erkey
3. #* William Jacob Robbins
4. % Van Overbeek

Question Number : 107 Question Id : 7532293145 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
UTey 3d Yaei &1 ol fbd B8l STaT g2
Options :

1. ¢ Tiefod gaRaS

2. % BHId Ul

3. % faferaw S/pe Afa=w

4. % M lddid

Question Number : 108 Question Id : 7532293146 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
DNA synthesis takes place in:

Options :

1. # the G1 phase

2. # the G2 phase

3. ¥ the S phase

4. % the mitotic phase

Question Number : 108 Question Id : 7532293146 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
S T.T (DNA) IRawor fad giar g2
Options :

1. % Sit1 e

2. % M2 UTaRIT



3. ¢ T TIa=AT
4. % LAV YTaAT

Question Number : 109 Question Id : 7532293147 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

A chromosome with two identical arms is called:
Options :

1. #® a metacentri chromosome

2. % an isochromosome

3. # aholocentric chromosome

4. ¥ 3 Monocentric chromosome

Question Number : 109 Question Id : 7532293147 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

& U Y3 aTeY T[UrE b fob AT | ST SffdT 82
Options :

1. % Ao URE

2. ¢ JHIURA

3. % gldldbisd TURE

4. % Uhdbigd TURE

Question Number : 110 Question Id : 7532293148 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following soil classifications is used in India?
Options :

1. ® USSR soil classification

2. ¥ USDA soil classification

3. ¥ Marbut’s soil classification



4. ® Coffey’s soil classification

Question Number : 110 Question Id : 7532293148 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

YR #, Frafifad & @ o191 ger aifezor SugnT fbar S 82
Options :

1. % g UY.TH.3R. (USSR) HaT i IHR0T

2. ¥ JUH.3IU. (USDA) Hal Fiffemur

3. % T BT T FHIUT

4. % Pt BT Gl DRI

Question Number : 111 Question Id : 7532293149 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The soli particle density (gcm'3 ) formula is
Options :

1. ¥ Weight of soil/ Volume of soil

2. % Weight of dry soil/ Volume of soil

3. ¥ Weight of dry soil/ Volume of soil particle
4. ® Volume of soil/ Weight of moist soil

Question Number : 111 Question Id : 7532293149 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
T B I (gem™) BT G HIH-91 82
Options :

1. # HGI hT HR / Hal oI ATIdT

2. % I&h Hal hl HR / Jal dT AT

3. ¢ Y &I BT YR / Gl HUI BT 3a
4. % FCI BT AT / TH HaT BT HR




Question Number : 112 Question Id : 7532293150 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Remote sensing utilises:

Options :

1. # direct solar radiation

2. # diffused solar radiation

3. % global solar radiation

4. % reflected solar radiation

Question Number : 112 Question Id : 7532293150 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

IR Yae (e R 7 frae Suan grar
Options :

1. % gag 9R fafasvur

2. % faufd OR fafaon

3. % iy IR fafavur

4. ¢ TRIAfqd 9R fafdom

Question Number : 113 Question Id : 7532293151 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The branch of horticulture that deals with the cultivation of vegetable crops is known as:
Options :

1. # Pomology

2. # Floriculture

3. % Olericulture

4. % Arboriculture

Question Number : 113 Question Id : 7532293151 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option



Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25

gifchear 1 I YRAT I T BT ATl § o Fioord bl Wat T T fdrd g2
Options :

1. % giArd

2. % TARID R

3. ¢ 3R eaR

4, % ERIHER

Question Number : 114 Question Id : 7532293152 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The pineapple fruit contains an enzyme called:
Options :

1. % Papain

2. ¥ Bromelin

3. # Capsaicin

4. % Aegeline

Question Number : 114 Question Id : 7532293152 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

A & Hd H FRfafad § @ S19-91 TSsH urdn Si1dT 82
Options :

1. % 909 (Papain)

2. ¢ SAfeH (Bromelin)

3. % %@Eﬁﬂ (Capsaicin)

4. % Ui (Aegeline)

Question Number : 115 Question Id : 7532293153 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25
Little leaf is a disease of:

Options :

1. # Chilli

2. % Okra

3. ¥ Brinjal

4. % Tomato

Question Number : 115 Question Id : 7532293153 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

B Tl I (Ferfed oftp) 310 9 g e 1IN 82
Options :

1. % fid

2. % fUl

3. ¥ &

4, % CHIXR

Question Number : 116 Question Id : 7532293154 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Fruit flies belong to which of the following families?
Options :

1. # Trypetidae

2. % Trichogrammatidae

3. ¥ Tephritidae

4. ¥ Tenthredinidae

Question Number : 116 Question Id : 7532293154 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

o A, Fuffad # 9 fog oa @ gefia 32



Options :

1. ® g@?@?ﬁ(Trypetidae)

2. % grgﬁummgs"r (Trichogrammatidae)
3. ¢ ¢S 8l (Tephritidae)

4, # %ﬂﬁsﬁ?ﬂé (Tenthredinidae)

Question Number : 117 Question Id : 7532293155 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The inverted ‘Y’ shaped suture in an insect head is:
Options :

1. ® the epistomal suture

2. % the frontal suture

3. # the occipital suture

4. ¥ the epicranial suture

Question Number : 117 Question Id : 7532293155 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Pic & RR T IeC Y’ 3P areh o 1 Bt 82
Options :

1. % 3ffULED Hia-

2. ® qefle Hiad

3. % DU Tiad

4.« DU o

Question Number : 118 Question Id : 7532293156 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Who is known as the father of plant pathology?
Options :



1. # Antonie van Leeuwenhoek
2. #® Theophrastus

3. # CH Person

4. ¥ HA de Bary

Question Number : 118 Question Id : 7532293156 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Ty AR T S 8 8T Il 3?2

Options :

1. % UeAtdH w (Antonie van Leeuwenhoek)
2. ® W(Theophrastus)

3. % T T T (CH Person)

4. ¢ TAU S O (HA de Bary)

Question Number : 119 Question Id : 7532293157 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Who discovered Bordeaux mixture?
Options :

1. ¥ PMA Millardet

2. ® KS Chester

3. # PA Micheli

4. % E]J Butler

Question Number : 119 Question Id : 7532293157 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

CISAEE (Bordeaux mixture) o1 @ Fgfafad 7 9 foea ot o

Options :
1. ¢ U1.TH.U. feRS<T (PMA Millardet)



2. % %Y. IR (KS Chester)
3. % 41U fidelt (PA Micheli)
4. % 3. 9 (EJ Butler)

Question Number : 120 Question Id : 7532293158 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

A disease developing in many individuals of a population widely but periodically in a destructive form is called:
Options :

1. # an endemic

2. # asporadic

3. ¥ an epidemic

4. # apandemic

Question Number : 120 Question Id : 7532293158 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

foreft SEReT # 3d il H amues w0 § faswRid foreg Simafiies ©U ¥ faArereRt WRey a1 I, a1 Hedrdl 82
Options :

1. ® QA& (Tsfi®)

2. % JAAID (FURTSH)

3. ¢ SFUfedh (TUSiien)

. C 2N W e
4, ® AP (UdS[HD)
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Question Number : 121 Question Id : 7532293159 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Once the pathogen is established in an area, the steps taken to destroy or remove it is known as:
Options :

1. * Exclusion

2. % Eradication

3. * Protection

4. % Therapy

Question Number : 121 Question Id : 7532293159 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



ot &7 A T WA 81 & IWRId, 38 Y B T1 g & ol I3TT S a1 HEH T Hedld o2
Options :

1. % 3o

2. ¥ IHEH

3. % R

4. % IR

Question Number : 122 Question Id : 7532293160 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The disease responsible for the Irish Famine in 1845 is:
Options :

1. ¥ late blight of potato

2. # brown spot of rice

3. % wheat rust

4. % late blight of tomato

Question Number : 122 Question Id : 7532293160 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

1845 T ST SHBHTA B oY STRGR I DHIF-IT UT?
Options :

1. ¢ 3] T Uil el

2. % Iq¢] T H Ysdl

3. % N HIE

4. % THICR 1 Ul Fardll

Question Number : 123 Question Id : 7532293161 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
A plant adjusted to saline conditions is known as:



Options :

1. # a thallophyte
2. # aglycophyte
3. % a halophyte

4. # axerophyte

Question Number : 123 Question Id : 7532293161 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

AU RT3 ¥ SIH T B aTd UIey, T HEaAdl 82
Options :

1. % Jqrmrgel

2. % TAGDIBISCI

3. ¥ gaImIgel

4. % SRIGTZCT

Question Number : 124 Question Id : 7532293162 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following methods is the best for prevention of selfing in hermaphrodite plants?
Options :

1. % Bagging

2. ¥ Emasculation

3. % Hand pollination

4. % Removal of male flower

Question Number : 124 Question Id : 7532293162 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

WWﬁW(selﬁng) WW%WWWﬁmﬁﬁaaﬁq—ﬁ%7

Options :



1. % aﬁ"T(Bagging)

2. ¥ W (Emasculation)
3. % ¥ ORI

4. % RYY DI gCH

Question Number : 125 Question Id : 7532293163 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Mating between individuals sharing a common parent in their ancestry is known as:
Options :

1. #* heterosis

2. % inbreeding

3. % random drift

4. % inter breeding

Question Number : 125 Question Id : 7532293163 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

JRITTfa & A gdoidT & A1d1-fdr are safaaa & #e QfRTe (Mating) AT 6:
Options :

1. % Jp3ol (heterosis)

2. ¢ 3Jd:US (inbreeding)

3. % Yrefwde Hfd (random drift)

4. % 3{dR USIHH (inter breeding)

Question Number : 126 Question Id : 7532293164 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The study of soil science from the perspective of plant growth is known as:
Options :

1. # pedology



2. ¥ edaphology
3. % petrology
4. # petrography

Question Number : 126 Question Id : 7532293164 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

UTeU 3fg & VB0 J HaT fafH &1 S99, 1 Hgaldl 82
Options :

1. % USIaroil

2. ¢ TSWHIaTSH

3. % Uclaroll

~

4. % USRIt

A

Question Number : 127 Question Id : 7532293165 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Which of the following is a 1:1 clay mineral?
Options :

1. # Montmorillonite

2. % Chlorite

3. ¥ Kaolinite

4. % Tllite

Question Number : 127 Question Id : 7532293165 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
fFaffed § 3 &F 91, T 1:1 & IS 82
Options :

1. % HicHIReASE

2. % FIRISC



3. ¢ PH3ffaTse
4. % 3aIC

Question Number : 128 Question Id : 7532293166 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

During ripening of fruits, starch is converted into:
Options :

1. # pectin

2. % tannin

3. # vitamins

4. ¥ sugars

Question Number : 128 Question Id : 7532293166 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Hd Udh & SR, WTd el uRafad giar 82
Options :

1. % Ufged

2. % ¢fF

3. % fqeriee

4. QBT

Question Number : 129 Question Id : 7532293167 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Methyl eugenol is an attractant for:
Options :

1. ¥ fruit flies

2. % gall flies

3. ® white flies



4. ® mites

Question Number : 129 Question Id : 7532293167 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

afa ?I%I:lylﬂ (Methyl eugenol) Fafafad & T fd sreffa srarg?
Options :

1. ¢ Td HET (fruit flies)

2. % fUfeHT GRaT (gall flies)

3. % Tdd ARG (white flies)

4. % Y (mites)

Question Number : 130 Question Id : 7532293168 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Bemisia tabaci is a vector of:

Options :

1. ® tungro virus

2. ¥ tomato leaf curl virus

3. # grassy stunt virus

4. ® bunchy top virus

Question Number : 130 Question Id : 7532293168 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

SFAR™T eare] (Bemisia tabaci), ﬁgﬁr@ﬁﬁ@rmmm%v
Options :

1. % T fawrg

2.« THICX Uxit AIS (T Hel) o]

3. % qHF1 9N (URY o) fawmg

4. % /31 XY (@t er) fasmg




Question Number : 131 Question Id : 7532293169 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following diseases is common in a vegetable nursery?
Options :

1. % Wilt

2. % Softrot

3. ¥ Damping off

4. % Leaf curl

Question Number : 131 Question Id : 7532293169 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

giesral &t T8 & FuferiRad &  S1F-91 I97 IH=Id: Ui ST 82
Options :

1. % T (Wilt)

2. % Hg farer (Soft rot)

3. ¥ 3% O (Damping off)

4. % it Ih_S’ (Leaf curl)

Question Number : 132 Question Id : 7532293170 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The vector of bhendi yellow vein mosaic virus is:
Options :

1. % aphid

2. ¥ white fly

3. % leaf hopper

4. % mite

Question Number : 132 Question Id : 7532293170 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option



Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25

frafeiad o @ w4, RS Aar 39 (bhendi yellow vein) HIoidh fIST] &1 a8 72
Options :

1. % TS (aphid)

2. ¢ §d HET (white fly)

3. % tI'UfW (leaf hopper)

4. % HIFC (mite)

Question Number : 133 Question Id : 7532293171 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The commercially propagating material of sugarcane is:
Options :

1. ¥ sett

2. % seed

3. % tuber

4. % root

Question Number : 133 Question Id : 7532293171 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

T2 BT OIS YTEH HRT T HgaTd o2
Options :

1. ¢ 9T (sett)

2. % Eﬁﬁ(seed)

3. ® & (tuber)

4, % g (root)

Question Number : 134 Question Id : 7532293172 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25

The India Meteorological Department was established in the year:
Options :

1. # 1975

2. ¥ 1875

3. % 1932

4, % 1832

Question Number : 134 Question Id : 7532293172 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

YR HIRATIR faHT &1 R iy af 8 &1 715 o
Options :

1. % 1975

2. % 1875

3. % 1932

4, % 1832

Question Number : 135 Question Id : 7532293173 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
The term ‘social forestry’ was coined by:
Options :

1. * CJ Tomby

2. % SC Write

3. ¥ PC Langley

4. ¥ JC Westoby

Question Number : 135 Question Id : 7532293173 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

TSI dTfA! (social forestry)' Xsq fbdds gRT Ufautfad faar mam




Options :

1. % H 9. el
2. % T
3. % qi . ol
4.« Sl IETEl

Question Number : 136 Question Id : 7532293174 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
The Forest Research Institute is situated at:
Options :

1. ¥ Dehradun

2. % Delhi

3. % Bhopal

4. ¥ Bengaluru

Question Number : 136 Question Id : 7532293174 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
G Y IR, F8 f[RUd 52
Options :

1. ¢ CEIgA

2. % facedl

3. % HIUTe

4. % T

Question Number : 137 Question Id : 7532293175 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Dog clutches are used in:
Options :



1. * tractors
2. * buses
3. % power tillers

4. % cars

Question Number : 137 Question Id : 7532293175 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
S e forad SUIT fob T ST 82
Options :

1. % SR

2. % dY

3. ¢ UIQR feeR

4, % HR

Question Number : 138 Question Id : 7532293176 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Power operated sprayers work with a pressure of kg/cm?.
Options :

1. ¥ 22-55

2. % 25-30

3. ¥ 30-35

4. % 35-40

Question Number : 138 Question Id : 7532293176 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

ifed TaTferd W kg/cmz?{]—d%wumaﬂ?[%l
Options :

1. ¥ 22-55



2. % 25-30
3. ¥ 30-35
4. % 35-40

Question Number : 139 Question Id : 7532293177 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Alternanthera is used for making:
Options :

1. ¥ edges

2. # hedges

3. # paths

4. # arches

Question Number : 139 Question Id : 7532293177 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

TR (Alternanthera) 1 I fads Ao %ﬂ T STar 82
Options :

1. ¢ T (edges)

2. % g (hedges)

3. % U¥Y (paths)

4. % g3 (arches)

Question Number : 140 Question Id : 7532293178 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
The most common lawn grass is:
Options :

1. % Agrostis tenuis

2. ¥ Cynodon dactylon



3. # Festuca ovina

4. ¥ Poa pratensis

Question Number : 140 Question Id : 7532293178 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

A (@ ) & e T I O - B2
Options :

1. # Q"Jﬁ‘@g éﬂsﬂ (Agrostis tenuis)

2.9 HI$“|\IS'1 gddliﬂ"l (Cynodon dactylon)
3. % W 3ffaAr (Festuca ovina)

4. % I3 UTef=9 (Poa pratensis)
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Question Number : 141 Question Id : 7532293179 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
The most suitable plant for a rock garden is:
Options :

1. ® gerbera

2. % cacti

3. # China aster

4. # gladiolus

Question Number : 141 Question Id : 7532293179 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

A ITH Qi e P foIE T UG UTey HIH-91 ]2
Options :

1. = \_ﬂaﬂ(gerbera)

2. ¢ Had) (cacti)

3. % gl TR (China aster)
4. % TQAfSIMNAY (gladiolus)

Question Number : 142 Question Id : 7532293180 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Where is the headquarters of CPCRI located?



Options :

1. ¥ Kasaragod
2. # Coimbatore
3. % Calicut

4. % Trivandrum

Question Number : 142 Question Id : 7532293180 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
CPCRI &1 T Hg1 U &2
Options :

1. ¥ BRRAS

2. % HRIIR

3. % Pleilde

4. % fa=H

Question Number : 143 Question Id : 7532293181 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
NBPGR is located at:

Options :

1. ¥ New Delhi

2. # Lucknow

3. # Bengaluru

4. # Karnal

Question Number : 143 Question Id : 7532293181 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

NBPGR &gl fRUd g2
Options :



1. ¢ s faeeht
2. % TGS
3. % e

4, & P

Question Number : 144 Question Id : 7532293182 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
The term ‘biotechnology’ was coined by:
Options :

1. # Frederick Sanger

2. % Karl Ereky

3. % William Bateson

4. % S.C. Maheshwari

Question Number : 144 Question Id : 7532293182 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

RIS (AUt Req forae ufaaried faram
Options :

1. ® ThgRe IR (Frederick Sanger)

2. ¢ WW(Karl Ereky)

3. % 3ferad 99 (William Bateson)

4. % TY.IY. A8 (S.C. Maheshwari)

Question Number : 145 Question Id : 7532293183 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
The chief purpose of emasculation is to:
Options :

1. ¥ prevent selfing



2. % promote crossing
3. # prevent out crossing

4. # promote seed setting

Question Number : 145 Question Id : 7532293183 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
GO@eRUl &1 T 354 RT -1 gidl 82
Options :

1. ¢ QI DI AHUH

2. % IR P IGIal ST

3. % SIgY IR DI ADUH

4. % S JfTT ) Igrar

Question Number : 146 Question Id : 7532293184 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
The sugar found in milk is:

Options :

1. # Galactose

2. % Glucose

3. * Fructose

4. ¥ Lactose

Question Number : 146 Question Id : 7532293184 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Y T UT8 ST aTell YT, T Hadld! g2
Options :

1. % Toiaerel

2. % TSl




3. % ool
4. ¥ AN

Question Number : 147 Question Id : 7532293185 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Whiptail disorder in cauliflower is due to the deficiency of:
Options :

1. % Ca

2. % Mo

3. * Bo

4, % Na

Question Number : 147 Question Id : 7532293185 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

part § frge! el § f@ued fa®R (Whiptail disorder) 33 BldT 82
Options :

1. % Ca

2. % Mo

3. % Bo

4. % Na

Question Number : 148 Question Id : 7532293186 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Cashew nut was first introduced in India with the main objective of:
Options :

1. ¥ soil conservation

2. # exporting kernels

3. % industrial development

4. # area expansion



Question Number : 148 Question Id : 7532293186 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

YR H Ugalt SR PIo ! Wit BT G IGa = MHfRad | I -7 412
Options :

1. ¢ T Y&l

2. % Hol Y &1 fFaia

3. % 3feNfie fasr

4. % &7 faR

Question Number : 149 Question Id : 7532293187 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Cashew is commercially propagated through:
Options :

1. % seeds

2. # cuttings

3. ¥ soft wood grafting

4. # budding

Question Number : 149 Question Id : 7532293187 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

o] &1 aTfIoas HadH foads ATed 4 gl 82
Options :

1. % &5

2. % HaH

3. g B8 MG

4. % gpa



Question Number : 150 Question Id : 7532293188 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
The tall varieties of coconut are referred to as:
Options :

1. ¥ Typica

2. % Nana

3. # Typica-Nana

4. % Nana-Typica

Question Number : 150 Question Id : 7532293188 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
NG B el foredt, T By &2
Options :

1. ¢ CTgfuehl

2. & AqMET

3. % CTRfUBTAM

4. % qHI-CTSUBT

Question Number : 151 Question Id : 7532293189 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The Coconut Development Board is located at:
Options :

1. # Patna

2. ¥ Kochi

3. % Kota

4. ¥ Bengaluru

Question Number : 151 Question Id : 7532293189 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25
IRg fasr aYs, Fel Ra 82
Options :

1. # UcHdl

2. ¢ B

3. % Bl

4. % dIIE

Question Number : 152 Question Id : 7532293190 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The ability of a cell to regenerate into an entire plant is called:
Options :

1. # plasticity

2. % flexibility

3. ¥ totipotency

4. # elasticity

Question Number : 152 Question Id : 7532293190 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

HIRDT Bt Tl YTy H TReTC B &, T Tl 82
Options :

1. * gYcddl

2. % gA&Idl

3. ¢ QUIRTGRId

4. % YARYdT

Question Number : 153 Question Id : 7532293191 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



The transgenic crop commercially released in India is:
Options :

1. ¥ cotton

2. % rice

3. % brinjal

4, % okra

Question Number : 153 Question Id : 7532293191 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

YR # aiftifods w0 ¥ frfd &1 18 ReaRias® (e Reie) Hoad HH-31 /2
Options :

1. ¥ HU™

2. % [dd

3. % dTF

4. % fUS

Question Number : 154 Question Id : 7532293192 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Mudigere-1 is popular cultivar of spice crop.
Options :

1. # Clove

2. # Cinnamon

3. % Cardamom

4. % Black pepper

Question Number : 154 Question Id : 7532293192 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

ER-1 AT HHd &1 BT FES (cultivar) B

Options :



1. % @

2. % grerdiA
3. ¢ A

4. % o i

Question Number : 155 Question Id : 7532293193 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Hen and Chicken disorder found in which of the following fruit crop
Options :

1. # Cherry

2. # Pear

3. % Apple

4. ¥ Grapes

Question Number : 155 Question Id : 7532293193 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

w1 FafRied § R wee i 3R 7o 3 S ) e um s e
Options :

1% I

2. % ATl

3. % Uq

4. AR

Question Number : 156 Question Id : 7532293194 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Haploid plants can be obtained through:
Options :

1. * meristem culture



2. #% embryo culture
3. % endosperm culture

4. ¥ pollen culture

Question Number : 156 Question Id : 7532293194 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

forreh HTerd § SR (Haploid) UTEY UTW fohT ST Tahd 62
Options :

1. % faHIas dada

2. % YurdqdH

3. % YUy qeH

4. ¢ R Had

Question Number : 157 Question Id : 7532293195 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Silking is associated with:

Options :

1. ¥ maize

2. % pigeon pea

3. ® sorghum

4. % rice

Question Number : 157 Question Id : 7532293195 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
fafeh frad Jefia 82

Options :

1. ¥ Hdd[

2. % 3R



3. % wdRR
4. % dIdd

Question Number : 158 Question Id : 7532293196 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Khaira disease of rice is due to the deficiency of:
Options :

1. ¥ Zn

2.% B

3. * Mo

4. % N

Question Number : 158 Question Id : 7532293196 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
YT T AT INT, et ot & gial 82
Options :

1. ¥ Zn

2.% B

3. * Mo

4. % N

Question Number : 159 Question Id : 7532293197 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Lines connecting the points of equal rainfall are called:
Options :

1. ¥ isohyets

2. % isobars

3. * isobaths

4. * jsotherms



Question Number : 159 Question Id : 7532293197 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

T quf & fagaft &I S areh XAy, R Heard! g2
Options :

1. ¢ THAN 314

2. % UGS YWY

3. % gETHRar ¥

4. % GHAY Q@Y

Question Number : 160 Question Id : 7532293198 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The bacteria that cause crown gall disease and is used for gene transfer is:
Options :

1. ¥ Agrobacterium tumefaciens

2. % A-thiobacillus

3. # A-rhizogenesis

4. % A-ferrooxidans

Question Number : 160 Question Id : 7532293198 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
T3 TIid T S B aTdll, 3R ST RIFIARUT g U Si1aT] HI-1 52

Options :

1. ¥ TNeaINgH Eﬂﬁm (Agrobacterium tumefaciens)
2. % T-ROISRIY (A-thiobacillus)

3. % E-ﬂgﬁﬁ@ﬁﬁm (A-rhizogenesis)

4. % THISRIS (A-ferrooxidans)
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Question Number : 161 Question Id : 7532293199 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The Central Institute for Arid Horticulture is located in:
Options :

1. ®* Madhya Pradesh



2. # Uttar Pradesh
3. ¥ Rajasthan
4. # Gujarat

Question Number : 161 Question Id : 7532293199 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
HETI Y IATAT SR Ft RUd 52
Options :

1. % O YR

2. % JW YU

3. % SIRYTH

4. % TGRId

Question Number : 162 Question Id : 7532293200 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The aggregate of weather conditions over a long period of time is called:
Options :

1. ¥ Climate

2. % Weather

3. ¥ Monsoon

4. % Atmosphere

Question Number : 162 Question Id : 7532293200 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
TS el U 3afY H AIgH &1 <23l BT b, T Hedldl g2

Options :

1. ¢ S@ay
2. % AH




3. % AT
4. % qRIHSA

Question Number : 163 Question Id : 7532293201 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The application of fertilisers along with irrigation water is called:
Options :

1. # Micro irrigation

2. # Foliar application

3. % Top dressing

4. ¥ Fertigation

Question Number : 163 Question Id : 7532293201 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

TS & U & W1 IARB| BT YA, 1 HEardl g2
Options :

1. * J&H ﬁﬁﬂsc (Micro irrigation)

2. % guffg &ﬂ'q?ﬂ'r[ (Foliar application)

3. % E'\quégﬁm (Top dressing)

4. ¢ BIERHE (Fertigation)

Question Number : 164 Question Id : 7532293202 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which instrument is used for continuous measurement of atmospheric pressure?
Options :

1. % Thermograph

2. % Psychrometer

3. ¥ Barograph



4. ¥ Pyranometer

Question Number : 164 Question Id : 7532293202 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

qgHS S % Fod AT 2q [Hg STBRUT HT IuaNT e Sirar 82
Options :

1. % YRS

2. % HIghIHICR

3. ¢ RITH

4. % URRAMIC

Question Number : 165 Question Id : 7532293203 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
The edible part of celery is:

Options :

1. ¥ the fleshy leaf stalk

2. # the root

3. % the curd

4. % the head

Question Number : 165 Question Id : 7532293203 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
3{oTHIG (FTRY) BT W HIT HIF-HT 81l 62
Options :

1. ¢ TdaR Uil €39

2. % lg

3. % %S

4. % 2y




Question Number : 166 Question Id : 7532293204 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Sweet potato is generally propagated by:
Options :

1. # the rhizome

2. % fresh vine cutting

3. % the seed

4. % the bulb

Question Number : 166 Question Id : 7532293204 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Q[hRh e BT JMHI: Uae fhde gRI gldT 82
Options :

1. % J3AH

2. TSl Al BT el HRT
3. % il

4. % Hg

Question Number : 167 Question Id : 7532293205 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following is NOT a garden adornment?
Options :

1. # Seat

2. % Sundial

3. # Bird bath

4. ¥ Rockery

Question Number : 167 Question Id : 7532293205 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option



Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25

9 & 9 HH-91, I ToTae T8l 82
Options :

1. % i (Seat)

2. % Y48 (Sundial)

3. % §3 91 (Bird bath)

4. ¥ B (Rockery)

Question Number : 168 Question Id : 7532293206 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
The inflorescence of coconut is known as:
Options :

1. ¥ spadix

2. % gpathe

3. % panicle

4. #® frond

Question Number : 168 Question Id : 7532293206 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
ATRYe BT UG shH, T BRI 57
Options :

1. ¢ WifgR (spadix)

2. ® WY (spathe)

3. % aﬁW(panicle)

4. % TpTS (frond)

Question Number : 169 Question Id : 7532293207 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25
Cauliflorous bearing habit is observed in:
Options :

1. # arecanut

2. % oil palm

3. % cocoa

4, % tea

Question Number : 169 Question Id : 7532293207 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

"v?ﬂ-lgmﬁ YRUT uqﬁ (Cauliflorous bearing habit) fad <t STt %‘?
Options :

1. % gurl

2. % 3gd Uiy

3. ¢ DIDIS

4, % 91

Question Number : 170 Question Id : 7532293208 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following is an export variety of mango?
Options :

1. % Langra

2. # Dashehari

3. ¥ Alphonso

4. ¥ Bombay Green

Question Number : 170 Question Id : 7532293208 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

318 1 FafeRad § @ oI5 fafd yeifa 82



Options :

1. ® TrST

2. % CREL

3. ¢ DI (BTHY)
4. % g I

Question Number : 171 Question Id : 7532293209 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Banana is commercially propagated by:
Options :

1. # crown

2. # water suckers

3. ¥ sword suckers

4. # budding

Question Number : 171 Question Id : 7532293209 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
&l & ATUID FatH e GRITBIT 62
Options :

1. # DI3 (crown)

2. #® S JY& (water suckers)

3. ¢ DU YD (sword suckers)
4. % HPpd (budding)

Question Number : 172 Question Id : 7532293210 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Which of the following is known as the ‘queen of spices’?
Options :



1. # Black pepper
2. % Cardamom
3. % Ginger

4. % Turmeric

Question Number : 172 Question Id : 7532293210 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Frofafed & 3 ford, TaTal &1 I ST oiTdl 82
Options :

1. % Prefl fird

2. A

3. % 3axd

4. % gegl

Question Number : 173 Question Id : 7532293211 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The spice used in Indonesia for making a special brand of cigarettes is:
Options :

1. ¥ clove

2. % cardamom

3. ® cinnamon

4. % allspice

Question Number : 173 Question Id : 7532293211 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
T ARy §i7S BT RRE S99 & forg SSHRman & forg el o1 SuanT foban &iren 82

Options :

1.« &



2. % A
3, % I
4, % AWy

Question Number : 174 Question Id : 7532293212 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Saffron is propagated through:

Options :

1. # seeds

2. % cutting

3. % corms

4. % rhizomes

Question Number : 174 Question Id : 7532293212 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
IR P YaLH [ gRI a1 82
Options :

1. % ool

2. % hefH

3. ¢ U

4. % oA

Question Number : 175 Question Id : 7532293213 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The active principle present in black pepper is:
Options :

1. ¥ piperine

2. % diosgenin



3. # vanillin

4. # eugenol

Question Number : 175 Question Id : 7532293213 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

et el B SufRd T Ifeha dd -1 81T 82
Options :

1. ¢ fom=

2. % SN

3. % affe

4. % golArd

Question Number : 176 Question Id : 7532293214 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Linalool is an important ingredient of:
Options :

1. # fennel

2. ¥ coriander

3. ¥ nutmeg

4. % cinnamon

Question Number : 176 Question Id : 7532293214 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
e, forenT T Hewdqu! Yuced o2
Options :

1. % G

2.« Y

3. #® SOhd




4. % Il

Question Number : 177 Question Id : 7532293215 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Brown blast is an important physiological disorder of:
Options :

1. ¥ rubber

2. % tea

3. # coconut

4. # oil palm

Question Number : 177 Question Id : 7532293215 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

R &IRE (Brown blast), [T T Aeayul IRINSG faaR 82
Options :

1. ¥ IR

2. % 9y

3. % TIREd

4. % 3igdum

Question Number : 178 Question Id : 7532293216 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The crop referred to as a ‘gold mine of waste land’ is:
Options :

1. * coconut

2. % cocoa

3. ¥ cashew nut

4. % oil palm



Question Number : 178 Question Id : 7532293216 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

FoR Y DI WUl Wa Heda™ arel had HIH-T 82
Options :

1. ® TRga

2. % PIDIS

3. ¥ DIV

4. % 3{Igel uiA

Question Number : 179 Question Id : 7532293217 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The degrees of freedom for the paired t-test is:
Options :

1. * n-2

2. % 2n-2

3. ¥ n-1

4. % 2n-1

Question Number : 179 Question Id : 7532293217 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

qﬁil?[ RSN (paired t-test) & e Wadaar &t dife &
Options :

1. ® n-2

2. % 2n-2

3. ¥ n-1

4. % 2n-1



Question Number : 180 Question Id : 7532293218 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Which of the following is a pome fruit?
Options :

1. # Pecan nut

2. % Apple

3. # Cherry

4. * Walnut

Question Number : 180 Question Id : 7532293218 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25

fAafifead # ¥ SH-91, te 09 Bd 82
Options :

1. % Qi1 -c

2. ¥ IF

3. % T

4. % RRIC
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Question Number : 181 Question Id : 7532293219 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following is a climacteric type of fruit?
Options :

1. ¥ Banana

2. % Citrus

3. # Litchi

4. # QGrape

Question Number : 181 Question Id : 7532293219 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
e & 3 SH-91, T FaRHaC RS THR &1 Hd 67
Options :

1. ¢ el

2. % {igcd

3. % ol




4. % 3R

Question Number : 182 Question Id : 7532293220 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
The main aim of pre-cooling is to:
Options :

1. # reduce microbial load

2. # improve quality

3. ¥ remove field heat

4. # reduce respiration

Question Number : 182 Question Id : 7532293220 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Uﬁ-‘\’ﬂﬂa:f (pre-cooling) T HBH B@é&t{ T BT 82
Options :

1. % g&HSild YR &Y Bl

2. % IO § YR HAT

3. ¥ &3 DI GO §CHI

4, % Y4 PH HAl

Question Number : 183 Question Id : 7532293221 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The material mostly used in the packaging for fruits and vegetables are:
Options :

1. ¥ CFB boxes

2. % Wooden boxes

3. # Paper bags

4. % Sacks



Question Number : 183 Question Id : 7532293221 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Wl SR Tieerdl B1 UobfoiT H UTd: fobd Tl o1 IugRT fobar St &2
Options :

1. ¥ CFB Sl

2. % AHal b dIag

3. % PITS & o

4. % 9R

Question Number : 184 Question Id : 7532293222 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Urea is a/an:

Options :

1. ¥ Organic fertiliser

2. # Inorganic fertiliser

3. % Nitrate fertiliser

4. % Potassium fertiliser

Question Number : 184 Question Id : 7532293222 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

gRaT /1 52

Options :

1. ¢ Sfdss IR®
2. % 3NIfdd ISP
3. % d18¢C SRD
4. % TIeRAA IRP



Question Number : 185 Question Id : 7532293223 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Low pressure storage is:

Options :

1. # Modified atmosphere

2. % Controlled atmosphere

3. ¥ Hypobaric storage

4. % Zero energy cool chamber

Question Number : 185 Question Id : 7532293223 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
fAgeTe HSRUI aT 87

Options :

1. % IR argHed

2. % g argHsd

3. ¢ 3{UCIS! (BIRUIGRE) HSRUT

4. % I SHoll Ydad Hé

Question Number : 186 Question Id : 7532293224 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Seedless watermelon variety is:

Options :

1. #* haploid

2. ¥ triploid

3. % hybrid

4. % tetraploid

Question Number : 186 Question Id : 7532293224 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25
RS B SroRfRd et B3t gt 82
Options :

1. % 3O (haploid)

2. ¢ BIIOM (triploid)

3. ® PR (hybrid)

4, ® a_g“jfﬁlﬁ(tetraploid)

Question Number : 187 Question Id : 7532293225 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Tag colour of the breeder seed is:
Options :

1. % white

2. % azure blue

3. % golden yellow

4. # opaque green

Question Number : 187 Question Id : 7532293225 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
TS Siel & 71 BT T ol Bidl 62
Options :

1. % ghg

2. % ST el

3. ¢ o der

4. % SORET g

Question Number : 188 Question Id : 7532293226 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



The first step in the extension teaching process is:
Options :

1. % continuation

2. # desire

3. % interest

4. ¥ attention

Question Number : 188 Question Id : 7532293226 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
fORRUT S&TU TfehaT o T TROT D 1H-91 52
Options :

1. % gidd

Question Number : 189 Question Id : 7532293227 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which system of planting is also known as septule system?
Options :

1. # Square system

2. # Filler system

3. % Quincunx system

4. ¥ Hexagonal system

Question Number : 189 Question Id : 7532293227 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
fo 90T GuITeht 1 YPYH (septule) YU Hi T STl &2

Options :



1. % g Jomel (Square system)

2. % fleR YUITel! (Filler system)

3. % Udd YUITAT (Quincunx system)

4. ¥ YCHIUIG YUTAT (Hexagonal system)

Question Number : 190 Question Id : 7532293228 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Which of the following is a ripening hormone?
Options :

1. # Paclobutrazol

2. % Auxin

3. ¥ Ethylene

4. ® Gibberellin

Question Number : 190 Question Id : 7532293228 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fafeIRad o @ B1F-91, U U™ aTell (ripening) 8THI 82
Options :

1. % YaaISgCTSId (Paclobutrazol)

2. % 3IfRIT (Auxin)

3.9 3?‘”3@7‘[ (Ethylene)

4. % THRIH (Gibberellin)

Question Number : 191 Question Id : 7532293229 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The angle between the main stem and a branch is known as:
Options :

1. ¥ crotch



2. % bud
3. ® wood
4. * bark

Question Number : 191 Question Id : 7532293229 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

T I 3R XRAT & T BT 1T, FT Heardl g7
Options :

1. ¥ Bid (crotch)

2. % Bl (bud)

3. # DY (wood)

4. ¥ BId (bark)

Question Number : 192 Question Id : 7532293230 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
The red colour of tomato is due to:
Options :

1. % capsanthin

2. % margarine

3. ¥ lycopene

4. % xanthophyll

Question Number : 192 Question Id : 7532293230 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
THICR &1 ATd 31 fahdidh HIRUT BIT 57
Options :

1. % HRRA

2. % HoORA




3. ¢ AIRHIUA
4. % SNfea

Question Number : 193 Question Id : 7532293231 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following propositions reflects the law of demand?
Options :

1. ¥ Demand curve has a negative slope.

2. #® Demand curve has a positive slope.

3. # Demand curve has no slope.

4. ® Demand curve is neutral slope

Question Number : 193 Question Id : 7532293231 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
ﬁgﬁ@[?ﬁ:{-@w(propositions),ﬂ%'[ﬁﬁﬂﬂmm%?
Options :

1. ¢ T a5 BT gTdl FUTHS 3|

2. % T I BT G YATHD g |

3. % TN ah P o1d T2l g

4. % T 9% BT 1A IH g

Question Number : 194 Question Id : 7532293232 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Utility gained by consuming one more unit of the good is:
Options :

1. # total utility

2. ® average utility

3. ¥ marginal utility



4. # cardinal utility

Question Number : 194 Question Id : 7532293232 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :

1. % Hd ST

2. % A ITAIAIT

3. ¢ AT UG

4. % @I U

Question Number : 195 Question Id : 7532293233 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The act of holding and preserving farm commodities from the time of production till consumption is known as:
Options :

1. # processing

2. # distribution

3. ¥ storage

4. # assembling

Question Number : 195 Question Id : 7532293233 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

IATEH & T F SUHIT & 0T IF SV ol B @ 3R TRI&d B BT BT, T HEardl 62
Options :

1. # YhHUT (processing)

2. % fJaRT (distribution)

3. ¢ Y8R (storage)

4. % gH-GrASH (assembling)




Question Number : 196 Question Id
Orientation : Vertical

: 7532293234 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option

Correct Marks : 1 Wrong Marks : 0.25
The minimum support price for farm commodities is recommended by:

Options :

1. # FCI

2. % STC

3. ¥ CACP
4. ¥ NAFED

Question Number : 196 Question Id
Orientation : Vertical

: 7532293234 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option

Correct Marks : 1 Wrong Marks : 0.25

HY oI & fore gaaw T geg forads gRT SrRifa fosar oian g2

Options :

1. # FCI

2. % STC

3. ¥ CACP
4. ¥ NAFED

Question Number : 197 Question Id
Orientation : Vertical

: 7532293235 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option

Correct Marks : 1 Wrong Marks : 0.25
Which of the following pests infects the produce both in the field and storage?

Options :

1. ¥ Pulse beetle

2. # Rice moth

3. % Khapra beetle
4. % Cigarette beetle

Question Number : 197 Question Id

: 7532293235 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option



Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25
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Options :

1. ¢ U §icd

2. % J1qd BT R

3. % I §lcd

4. % RERe died

Question Number : 198 Question Id : 7532293236 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The trade name of Ethylene dibromide (EDB) is:
Options :

1. % Rogor

2. # Ekalux

3. % Minifume

4. ¥ Padan

Question Number : 198 Question Id : 7532293236 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

YT SIIFHISS (EDB) &1 TR 19 &7 82
Options :

1. % IR (Rogor)

2. # ZDIARN (Ekalux)

3.¥ ﬁrﬁm{q (Minifume)

4. % Ug[H (Padan)

Question Number : 199 Question Id : 7532293237 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25

Zero energy cool chamber works on the principles of:
Options :

1. ¥ evaporative cooling

2. % air cooling

3. % ice cooling

4. % vacuum cooling

Question Number : 199 Question Id : 7532293237 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

][ ol yidad e (Zero energy cool chamber), fra Rigid R 1 Bl %‘?
Options :

1. ¢ Ao e

2. % iy i

3. % gt gfide

4. % fyaiq 2aeH

Question Number : 200 Question Id : 7532293238 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The problem of granulation is associated with:
Options :

1. ¥ Citrus fruits

2. % Guava

3. ¥ Mango

4. ¥ Pineapple

Question Number : 200 Question Id : 7532293238 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :

1. ¢ W< Hd (Citrus fruits)
2. % 3H¥Xq

3. % 3

4. % 3AMY



